Svenska Bridgeférbundet
Silver 4 2022-08-01

Partavling, 54 bord, 108 par. Antal brickor: 40. Medel: 2120.8.

Plac Par

1 631
2 559
3 624
4 450
5 523
6 458
7 525
8 657
9 537
10 637
11 447
12 522
13 434
14 653
15 646
16 538
17 553
18 629
19 655
20 647
21 430
22 622
23 533
24 633
25 449
26 543
27 446
28 557
29 536
30 421
31 651
32 649
33 431
34 529
35 623
36 636
37 530
38 549
39 453
40 455
41 552
42 432
43 451
44 634
45 560
46 546
47 429
48 424
49 526
50 438
51 460
52 547
53 643
54 544
55 627
56 443
57 457
58 427
59 426
60 644
61 524
62 628
63 425
64 621
65 558
66 648
67 555
68 630
69 428
70 452
71 635
72 433
73 445
74 423
75 527
76 659
77 459
78 626
79 654
80 532
81 550
82 545
83 551
84 436
85 645

Poang

2555.7
2546.4
2537.7
2519.7
2504.5
2454.2
2451.6
2431.7
2430.6
2430.3
2421.4
2415.1
2410.5
2383.9
2372.4
2352.0
2351.4
2348.5
2342.9
2342.6
2339.9
2338.2
2330.6
23254
2319.2
2309.6
2307.8
2307.6
2305.9
2303.3
2298.2
2294.5
2272.5
2259.0
2254.9
2252.0
2247.6
2245.3
2240.4
2232.4
2229.7
2227.7
2223.9
2212.6
2208.6
2207.9
2187.1
2185.1
2184.9
2183.1
2177.2
2164.6
2159.3
2155.6
2146.1
2140.7
2128.1
2127.2
2100.9
2092.1
2089.9
2088.8
2079.1
2074.1
2072.9
2070.5
2061.9
2059.5
2056.7
2056.3
2047.9
2028.1
2020.2
2012.1
2011.3
2010.0
2007.6
1989.2
1981.3
1981.2
1975.6
1972.4
1967.0
1965.0
1963.5

%

60.28
60.06
59.85
59.43
59.07
57.88
57.82
57.35
57.33
57.32
57.11
56.96
56.85
56.22
55.95
55.47
55.46
55.39
55.26
55.25
55.19
55.15
54.97
54.84
54.70
54.47
54.43
54.42
54.38
54.32
54.20
54.12
53.60
53.28
53.18
53.11
53.01
52.96
52.84
52.65
52.59
52.54
52.45
52.18
52.09
52.07
51.58
51.54
51.53
51.49
51.35
51.05
50.93
50.84
50.62
50.49
50.19
50.17
49.55
49.34
49.29
49.26
49.04
48.92
48.89
48.83
48.63
48.57
48.51
48.50
48.30
47.83
47.65
47.46
47.44
47.41
47.35
46.92
46.73
46.73
46.59
46.52
46.39
46.34
46.31

Namn

Johan Bennet - Mats Pettersson
Johan Noberius - Lennart Bylund
Julia Borg - Allan Nouri Otman Farha
Olafur Valgeirsson - Ragna Olafsdottir
Lars Ericson - Joakim Ericson
Andreas Westman - Patrik Eriksson
Jorgen Neldemo - Bobbo Jovic

Jan Unosson - Tage Bengtsson
Johan Pettersson - Joakim Olsson
Jan Levfall - Anders @strem

Jacob Freeman - Olivia Schireson
Kent Karlsson - Conny Svensson
Daniel Brandgaard - Luc Bellicaud
Leif Lundberg - Emma Karlsson
Andreas Skoglund - Hannu Oikarainen
Ambrose Holmes-Mackie - Joe Clarke
Mikael Johansson - Leif Rangevall
Andrea Nilsson - Markus Bertheau
Bjorn Ohlsson - Peter Olofsson
Lennart Rehle - Christer Bech

Juha Hamalainen - Kalevi Paavola
Jan Selberg - Olle Wademark

K-G Wanngard - Peter Kennerfalk
Jasper Vahk - Albert Pedmanson
Robert Larsson - Mats Johansson
Martin Gardrup - Johan Andersson
Nathalie Shashou - Nick Sandqvist
Bo Sundstrém - Emma Sundstrom

UIf Westlin - Henry Johansson

Lars Jeppsson - Kjell Hakansson
Tom Gjgs - Atle Evensen

Martin Lindfors - Martti Meronen
Simon Rasmussen - Olav Hjerkinn
Daniel Gustafsson - David Ueland
Per-Inge Helmertz - Lars-Eije Svensson
Lennart Lindqvist - Niklas Carlsson
Rolf Forsberg - Bengt Nilsson

Sanna Clementsson - Castor Mann
Eva Johansson - Jan Andersson
Mikael Lindblom - Torbjérn Lindblom
Dag Josefsson - Bjorn Holm

Kent Rorgvist - Renée Blixt

Raimo Raunto - Johan Herrgard
Bonnie Clementsson - Magnus Wegestal
Pierre Carbonnier - Gabor Barath
Benny Olsson - Roger Nyman

Dan Granberg - Per Jansson
Hans-Olov Gustafsson - Peter Strand
Oskari Koivu - Hermanni Huhtamaki
Jonas Tjarnemo - Hakan Tjarnemo
Lars-Inge Rehnstrom - Anders Ekstrom
Bosse Johansson - Staffan Rockler
John-Erik Hornfeldt - Per Andersson
Jorgen Andersson - Lars Erik Thomassen
Kjell Glans - Eva Glans

Benny Marquart - Preben Taasti

Mike Huggins - Irene Robinson

Hans Johansson - Erik Franzén

Bo Gisslander - Gunilla Ahlander
Kent Lindstrom - Paul Lundin

Arne Ericson - Bernt Sigvardsson

Tim Brierly - Graham Hartley

Peter Krug - Anders Norin

Andreas Abragi - Daniel Gullberg
Axel Selvén - Bengt Alrud

Anders Freij - Mats Martensson
Rose-Marie Jarl - Bjorn Hjelmgren
Akos Ordég - David Calipetre

Lennart Eriksson - Matteo Nordqvist
Stefan Bengtsson - Magnus Gauffin
Roger Ahlbom - Hasse Rohlin

Svein Grimstad - Roar Johansen
Mattias Lindgren - Magnus Melin
Anders Lovling - Géran Rangevall
Jan Ahlqgvist - Jan Konar

Carina Sjoblom - Carina Hallkvist
Kent Lundstrém - Mattias Forss

Peter Forsberg - Claes Ahgren

Patrik Elofsson - Tommy Ranta-Mikkula
Isabelle Kagstrom - Alf Kagstrom
Bruno Danielsson - Anne-Marie Cedergren
Kjell Starlander - Kenneth Nilsson
Hans Stever - Laila Stever

Jesper Rundin - Robert Lawy

Tommy Hagstrom - Britt-Marie Gallon

MID

93
655
66497
1256
12536
23603
18660
8677
3411
990200
990219
4155
990042
20271
23392
990155
50525
58762
5648
6599
+36
11074
6634
990189
15346
36202
990153
3723
3230
449
990159
64085
+30
89269
1322
9742
13471
55629
33465
5094
51
2491
+38
55628
5538
592
6
5401
990121
65741
6717
20119
4866
22136
15295
+73
990237
14410
51029
201512
12242
990239
14201
58640
63229
5548
10408
+82
9020
1165
11528
990161
87458
18166
10458
3382
85082
51490
28614
41909
35508
93815
35040
80778
9775

5587
8234
47179
9197
26279
37392
48267
1688
80478
18441
990222
7638
990220
58290
35098
990154
10493
57666
5771
8966
+37
14800
7397
990188
15014
40197
990152
58870
31018
3733
990160
+39
+31
990215
14309
3512
18043
58464
37709
13706
89793
60183
+33
91149
916
7522
12635
2864
990118
5534
11674
20114
17111
990201
8552
+74
990236
76
10390
7574
628
990238
8191
37167
4373
37097
6991
990080
67675
10676
83807
990162
26213
2876
9717
6161
87222
2664
7338
33288
91866
79601
39214
+21
5452

Klubb

Overums BK - BK Lavec
Hovmantorps BK - H&rn6 BS
Kalmarsunds BK - BK S:t Erik
Atrans BK

Géavle BK

BK Lavec - BK Alert

BK Albrekts

Bords BA

H&rn6 BS - Bohus Nations BS
Norge - BK Everfresh
Canada - USA

ABK Singelton, Askersund
Danmark - France

Luled BK

Karlstads BK

England

Alvsby BK

BK Albrekts - BK S:t Erik
Solvesborgs BK

BK S:t Erik

FIN

Norrorts Bridge

Enkopings BS - Valdemarsviks BK
Estonia

Uppsalabridgen

Malmo BK

England

Sundsvallsbridgen

Bollnés BK

Ystads BS

Norge

Filbyter Bridge - FIN

Norge

Lunds BK - Norge

Motala Bridgeallians

Amals BS - Karlstads BK
ABB BK

BK S:t Erik

Askims BK - BK Lyx

BK S:t Erik - Torshélla BK
Folkare BK - Hedemora BS
Arvika BS

FIN

Malmd BK

Lunds BK - Véxjébridgen
Skoévde BA - Hunnebostrand-Kungshamns BK
Uppsalabridgen - Alnd BK

BK Bjorken

Finland

LUCK - Lunds BK
Valdemarsviks BK

Boxholms BS

ABB BK - BK Albrekts
Héassleholms BK - Norge
Tjorns BK

DK - DM

England

Bollnas BK - Hedemora BS
Bredaryds BK - Varnamo BK
Stigtomta BK - Nykopings BS
Vaxjobridgen - IFK Karlskrona
England

Harplinge BK

BK S:t Erik - BK Bjorken

BK Albrekts - Boras BA
LUCK - Lunds BK

Varnamo BK - Anderstorps BK
Romania

BK S:t Erik

BK S:t Erik

Bollnés BK - S6derhamns BS
Norge

Borléange BK

Enkdpings BS

BK Lyx

Sundsvallsbridgen - Sydjamten
Overums BK

ABB BK

Skoévde BA

Ej medlem - Sandvikens BK
Folkare BK

Storsjobygdens BK - Krokom / Féllinge BK
Kullabygdens BK

Borléange BK - England
Uppsalabridgen - Malungs BK
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86 548 19329 4559 Lena Schalin - Ronny Schalin 91200 713 Bridgeklubben Karlskrona
87 454 19235 45.36 N-G Nilsson - Hans Molin 21466 20432 Skellefted BK
88 556 1900.1 44.81 Thomas Johansson - Mark Strandell 18680 18681 Vargarda BS
89 422 1895.2 44.70 Birgitta Frodin - Gosta Frodin 80475 78240 Arvika BS
90 632 1891.8 44.62 Christian Bergek - Anna Bergek 92649 92648 BK Lyx
91 534 1878.7 44.31 Tonno Vahk - Aivar Tihane +89 990192 EST - Estonia
92 652 1863.2 43.94 Jim Nilsson - Johan Fréberg 3507 19626 Vaddo BK
93 521 1852.6 43.69 Bjorn Thalén - Yvonne Thalén 23411 78879 Skara BS - Karlstads BK
94 437 1820.7 42.94 Orjan Sjoberg - Anders Brodin 25534 88494 Amaéls BS
95 444 1809.3 42.67 Ella Rosthgj - Line Henriksen 990134 990235 Danmark
96 656 1808.8 42.66 An Elfdahl - Per Elfdahl 53033 53034 Kronhusklubben
97 456 1799.3 42.44 Leif Lysebring - Anders lhalainen 10391 4892 Lerums BK
98 650 1798.7 42.42 Judith Jordan - Susanne Luethy +78 +77 Switzerland
99 448 1797.9 42.40 Sten-Ake Thunberg - Leif Beckman 2754 18021 BK Lejonet
100 660 1791.1 42.24 Torbjoérn Utterstrom - Waldemar Bro 9521 7776  Skellefted BK
101 658 1783.4 42.06 Rosemary Kaplun - Lars-Erik Melander 64025 42943 Lerums BK
102 554 1745.3 41.16 Bengt Bellander - Jan Clementsson 903 55627 Vaxjobridgen - BK Lavec
103 638 1705.7 40.23 Gerth Hermansson - Lars Moquist 3093 9743  Bridgekamraterna Nybro
104 531 1637.4 38.62 Glenn Waldenstedt - Arne Jordestedt 5060 4809 Kungsbacka BS - Hunnebostrand-Kungshamns BK
105 435 1589.1 37.48 Viktor Kolding - Andreas Rolf-Larsen 990093 990131 Danmark
106 528 1531.3 36.12 Vivi-Anne Hagstrom - Carina Nilsson 89622 9900 Overums BK
107 535 1522.4 35.91 Birgitta Radberg - Hakan Lindstrom 17276 12472 Gavle BK
108 625 1294.7 30.54 Anneli Vestlund - Jessica Zackrisson 66551 66552 Arvika BS
1 4 D4 Basta kontrakt 2 463 Basta kontrakt 3 4 KD103 Basta kontrakt
Nord vKD9753 44 O D -1 100 Ost v EK97 ANT S =630 Syd vE1062 3NT S =400
Ingen ¢+ Kn3 NS + K87 ov + K54
#E108 & ¢ v & NT #E852 & ¢ v & NT #Kn2 & ¢ v & NT
4 EK9 4 Kn873 N48967 «KD9 410542 N 7 118 8 10 4 E876 4952 N 10108 9 9
vKnl04 ¢82 S 48967 vD10543 vKn6 S 7 118 8 10 v543 vKDKn9 S 10108 9 9
¢E76 498 095474 ¢ EKn5 ¢4 06 2553 +Kn96 ¢ 1087 023534
K965 #DKn742 V95474 *73 #DKn10964 V 6 2 5 5 3 #K76 #D54 V2353414
410652 & EKn87 +Kn4
vE6 v 82 v 87
+ KD10542 + D109632 + ED32
*3 &K #E10983
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poéang
553 528 2¢vyDN+1 ¢9 570 106.0 0.0(648 635 3vyDV-4 7 800 106.0 0.0(426 456 3NS+2 &6 460 98.0 8.0
423 458 4y N+1 #Q 450 104.0 2.0|424 457 5¢DS= &7 750 103.0 3.0|444 443 3NS+2 46 460 98.0 8.0
429 452 4y N = &Q 420 97.0 9.0|657 626 3NDN= ¢J 750 103.0 3.0(452 431 3NS+2 46 460 98.0 8.0
444 437 4v N= a7 420 97.0 9.0|553 528 3NN+2 vJ 660 100.0 6.0|544 543 3NN+2 42 460 98.0 8.0
455 426 4v N = 2 420 97.0 9.0(460 421 3NN+1 #Q 630 96.0 10.0(623 658 3NN+2 49 460 98.0 8.0
524 557 4v S= &Q 420 97.0 9.0|549 532 3NN+1 &9 630 96.0 10.0|629 652 3NS+2 47 460 98.0 8.0
644 643 4v N= *Q 420 97.0 9.0|636 647 3NN+1 #Q 630 96.0 10.0(648 633 3NS+2 46 460 98.0 8.0
650 633 4v N = ¢9 420 97.0 9.0|423 458 3NN = «Q 600 85.0 21.0(653 628 3NS+2 47 460 98.0 8.0
636 647 34 O-5 ¢+K 250 90.0 16.0|425 456 3NN = «Q 600 85.0 21.0|660 621 3NS+2 47 460 98.0 8.0
451 430 2y N+2 #J 170 84.0 22.0|443 438 3NN= «Q 600 85.0 21.0(421 427 3NN+1 vK 430 82.0 24.0
548 533 3v N+1 #Q 170 84.0 22.0|444 437 3NN= vJ 600 85.0 21.0(436 447 3NS+1 v5 430 82.0 24.0
560 521 3¢ N+3 &5 170 84.0 22.0(523 558 3NN = vJ 600 85.0 21.0|530 553 3NN+1 vK 430 82.0 24.0
621 623 2¢v N+2 ¢9 170 84.0 22.0(559 522 3NN-= «Q 600 85.0 21.0|548 535 3NS+1 47 430 82.0 24.0
657 626 3y N+1 ¢9 170 84.0 22.0(645 638 3NN = «Q 600 85.0 21.0|557 526 3NN+1 vK 430 82.0 24.0
425 456 3v N = ¢9 140 60.0 46.0(656 627 3NN = vJ 600 85.0 21.0|624 657 3NS+1 46 430 82.0 24.0
431 450 2v N+1 9 140 60.0 46.0 644 643 44D O-3 ¢6 500 76.0 30.0(631 650 3NN+1 vK 430 82.0 24.0
454 427 3v N= «Q 140 60.0 46.0|448 433 2vDV-2 ¢7 300 71.0 35.0 (424 458 3NN = v5 400 58.0 48.0
523 558 2y N+1 ¢9 140 60.0 46.0|524 557 3#DO-2 ¢9 300 71.0 35.0|430 453 3N S= 46 400 58.0 48.0
531 550 3v N= ¢8 140 60.0 46.0 (621 623 24DO-2 ¥8 300 71.0 35.0(432 451 3NN= vQ 400 58.0 48.0
543 538 2v N+1 +Q 140 60.0 46.0 (646 637 2vDV-2 46 300 71.0 35.0|450 433 3N S= v3 400 58.0 48.0
544 537 3v N= «Q 140 60.0 46.0|455 426 2N N + &K 180 66.0 40.0|455 428 3NN = vK 400 58.0 48.0
547 534 3v N= «Q 140 60.0 46.0 (422 459 2v V-3 46 150 62.0 44.0|460 422 3NN-= vK 400 58.0 48.0
549 532 3v N= 47 140 60.0 46.0 (449 432 2¢ S+3 &7 150 62.0 44.0|524 559 3NN = vK 400 58.0 48.0
554 527 3v N= «Q 140 60.0 46.0|548 533 2¢ S+3 &7 150 62.0 44.0|525 558 3N S = v4 400 58.0 48.0
559 522 2v N+1 #Q 140 60.0 46.0 453 428 3¢ S+1 &7 130 52.0 54.0(532 551 3NN-= vK 400 58.0 48.0
624 659 2v N+1 &7 140 60.0 46.0 |454 427 2¢ S+2 &7 130 52.0 54.0(536 547 3NN-= vK 400 58.0 48.0
632 651 2y N+1 ¢9 140 60.0 46.0|529 552 3¢ S+1 4K 130 52.0 54.0|552 531 3NN= vK 400 58.0 48.0
645 638 2y N+1 47 140 60.0 46.0|535 546 3¢ S+1 v4 130 52.0 54.0(560 522 3NN = vK 400 58.0 48.0
646 637 2v N+1 ¢9 140 60.0 46.0|547 534 3¢ S+1 4Q 130 52.0 54.0|644 637 3NS= v5 400 58.0 48.0
649 634 2v N+1 #2 140 60.0 46.0|624 659 3¢ S+1 4K 130 52.0 54.0|647 634 3NN-= vK 400 58.0 48.0
654 629 2v N+1 ¢9 140 60.0 46.0 654 629 2¢ S+2 4K 130 52.0 54.0(649 632 3NN = vK 400 58.0 48.0
655 628 3v N= ¢9 140 60.0 46.0|551 530 2¢ S+1 &7 110 43.0 63.0|655 626 3NN = vK 400 58.0 48.0
660 622 2v N+1 #Q 140 60.0 46.0|650 633 3¢ S= &7 110 43.0 63.0|656 625 3NN = 49 400 58.0 48.0
449 432 3¢ S+1 4A 130 40.0 66.0|431 450 3vDV-1 ¢7 100 33.0 73.0|446 437 2v O-3 «J 300 40.0 66.0
443 438 2v N = +9 110 37.0 69.0|445 436 3# 0O -2 +9 100 33.0 73.0|654 627 INS+4 46 210 38.0 68.0
656 627 3¢ S= «K 110 37.0 69.0|544 537 3# 0 -2 +3 100 33.0 73.0|448 435 2NS+2 46 180 340 720
422 459 34 O-2 vA 100 31.0 75.0|555 526 3& O -2 ¢9 100 33.0 73.0|549 534 INS+3 46 180 340 72.0
453 428 44 V-2 vA 100 31.0 75.0(649 634 340 -2 v8 100 33.0 73.0|645 636 2NN+2 vK 180 340 72.0
648 635 1INV -2 vK 100 31.0 75.0|652 631 24 O-2 &K 100 33.0 73.0(454 429 2NN+1 vK 150 27.0 79.0
652 631 24 O-2 vA 100 31.0 75.0|655 628 3& O -2 ¢9 100 33.0 73.0|546 537 INS+2 ¥3 150 27.0 79.0
551 530 34 O-1 vA 50 26.0 80.0|660 622 3& O -2 ¢6 100 33.0 73.0|555 528 2¢ S+3 46 150 27.0 79.0
424 457 4y N-1 +9 -50 15.0 91.0 (429 452 34 O-1 +3 50 19.0 87.0(659 622 2NN+1 vK 150 27.0 79.0
435 446 4v N-1 *2 -50 15.0 91.0|451 430 1v V-1 46 50 19.0 87.0|445 438 24 S+2 v3 130 21.0 85.0
445 436 3¢ S-1 +6 -50 15.0 91.0|531 550 34 O-1 +3 50 19.0 87.0|651 630 3# N+1 vK 130 21.0 85.0
447 434 4y N-1 LYo -50 15.0 91.0|543 538 34 O-1 v8 50 19.0 87.0|643 638 INS+1 47 120 18.0 88.0
460 421 4v N-1 *Q -50 15.0 91.0|630 653 34 O-1 ¢T 50 19.0 87.0 (545 538 3¢ S= ¢6 110 15.0 91.0
529 552 4v N-1 a4 -50 15.0 91.0|632 651 1v V-1 5 50 19.0 87.0|635 646 2¢ S+1 6 110 15.0 91.0
535 546 4v N-1 &J -50 15.0 91.0|560 521 3v N-1 ¢4 -100 12.0 94.0|554 529 2¢ N= vK 90 12.0 94.0
545 536 4v N-1 *Q -50 15.0 91.0|625 658 1v V+1 46 -110 10.0 96.0 (423 459 3N N-1 vK -50 7.0 99.0
555 526 4v N-1 *Q -50 15.0 91.0|435 446 3v N-2 ¢4  -200 7.0 99.0 (425 457 3NS-1 va -50 7.0 99.0
630 653 3NN -1 &2 -50 15.0 91.0|554 527 2NN -2 &Q -200 7.0 99.0(449 434 3NS-1 v5 -50 7.0 99.0
625 658 4vyDN-1 ¢9  -100 4.0 102.0 |447 434 3N S -3 K  -300 2.0 104.0 [556 527 3NN -1 vK -50 7.0 99.0
448 433 34 O = ¢K -110 1.0 105.0 |545 536 3N N -3 «Q -300 2.0 104.0 [521 523 3N S-2 47  -100 1.0 105.0
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556 525 3# O= vA -110 1.0 105.0 |556 525 3NN -3 «Q -300 2.0 104.0 (550 533 3v N-2 vK  -100 1.0 105.0
4 10 Basta kontrakt 5 sE4 Basta kontrakt 6 » E1065 Basta kontrakt
Vast v 1098532 ANT V =-630 Nord v 975 34 O =-140 Ost vE1073 4¢ O =-130
Alla + K9 NS ¢ Kn65 ov ¢ EKn5
*KD76 & ¢ v & NT #EDKnN76 & ¢ v & NT +98 & ¢ v & NT
aDKn72  4E84 N43533 «KKn53 D976 N8 7 447 a3 K874 N53565
v KD7 vE6 S$43533 vEKKn42 v83 S87 447 vKKn9  vD84 S5356 4
¢ Kn ¢ ED8642 O 9 108 109 ¢ K8 ¢ D942 0458965 4109843 ¢ KD2 08 107 7 8
#Kn10543 #E2 vV 9 108 9 10 *42 #1098 V458895 #ED65  #Knl103 vV 8 107 7 8
& K9653 41082 4 DKn92
vKn4 vD106 v 652
+ 10753 ¢+ E1073 +76
»98 #K53 *K742
Par Kontr ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
423 459 3N O -1 «3 100 93.8 1221433 452 INDS= vA 180 105.0 1.0(424 459 24 V-1 A 100 1050 10
424 458 3NV -1 vJ 100 93.8 12.2 (445 444 INDN= 46 180 1050 1.0(647 644 3NO-1 v2 100 1050 1.0
436 447 3NO-1 v4 100 93.8 12.2|421 429 INS+2 vK 150 101.0 5.0|445 444 INN-= ¢K 90 1020 4.0
445 438 44 V-1 K 100 93.8 12.21437 448 INS+2 vA 150 101.0 5.0(421 429 1e S= T 80 96.0 10.0
460 422 44 V-1 vT 100 93.8 12.2|553 532 INS+1 vA 120 97.0 9.0(549 536 1a S= T 80 96.0 10.0
530 553 3NV -1 vT 100 93.8 12.21647 644 INS+1 v4 120 97.0 9.0 (558 527 1a N= v4 80 96.0 10.0
544 543 3NV -1 vT 100 93.8 12.2 446 443 3% N= T 110 94.0 12.0(627 621 14 S= T 80 96.0 10.0
552 531 3NO-1 vJ 100 93.8 12.2 (627 621 2¢ O-2 «8 100 92.0 14.0 (646 645 1a S= T 80 96.0 10.0
557 526 3NV -1 vT 100 93.8 12.2 (431 454 INS= vA 90 88.0 18.0 (422 428 24 S-1 +3 -50 78.0 28.0
643 638 44 V-1 K 100 93.8 12.2|451 434 INS= vyK 90 88.0 18.0|425 458 24 S-1 *T -50 78.0 28.0
647 634 3NV -1 vT 100 93.8 12.2 (547 538 INN= «6 90 88.0 18.0 (426 457 24 S-1 *9 -50 78.0 28.0
648 633 3N O -1 vJ 100 93.8 12.2 (447 438 2v V-1 ¢5 50 78.0 28.0 (427 456 24 S-1 oT -50 78.0 28.0
655 626 3N O -1 «9 100 93.8 12.2 1450 435 44 O-1 K 50 78.0 28.0 (446 443 24 S-1 *T -50 78.0 28.0
548 535 3¢ O+1 vJ -130 78,5 275|525 521 2v V-1 A 50 78.0 28.0 (455 430 INN-1 a4 -50 78.0 28.0
656 625 3¢ O+1 vJ -130 78,5 27.5|526 559 3v V-1 A 50 78.0 28.0 (525 521 14 S-1 oT -50 78.0 28.0
449 434 2NO+2 vJ -180 744 31.6 (537 548 2v V-1 +5 50 78.0 28.0|531 554 24 S-1 +3 -50 78.0 28.0
556 527 2NO+2 vJ -180 744 31.6 (558 527 44 O-1 a2 50 78.0 28.0 (537 548 24 S-1 oT -50 78.0 28.0
649 632 2vyDN-1 #A -200 713 34.7(623 625 3v V-1 ¢5 50 78.0 28.0 (545 544 2v N-1 ¢+ K -50 78.0 28.0
421 427 3NV = vT -600 58.1 47.9|424 459 3#S-1 vK -100 68.0 38.0|546 543 INN-1 +Q -50 78.0 28.0
426 456 3N O = vJ -600 58.1 47.9|550 535 3# N-1 v8 -100 68.0 38.0|623 625 24 S-1 v9 -50 78.0 28.0
446 437 3NV = v5 -600 58.1 479|560 523 3# N-1 v8 -100 68.0 38.0|638 649 24 S-1 oT -50 78.0 28.0
450 433 3NV = vT -600 58.1 479|522 524 2v V= A -110 57.0 49.0 (437 448 24 S-2 ¢T -100 59.0 47.0
452 431 3NO= vJ -600 58.1 47.9 (546 543 2v V= ¢6 -110 57.0 49.0(450 435 34DS-1 43 -100 59.0 47.0
455 428 3N O = 5 -600 58.1 47.9(555 530 2v V= ¢5 -110 57.0 49.0|522 524 24 S-2 ¢T -100 59.0 47.0
521 523 3NO= vJ -600 58.1 47.9 (557 528 2e V= ¢3 -110 57.0 49.0|550 535 24 S-2 ¢T -100 59.0 47.0
555 528 3NV = vT -600 581 479|632 655 24 O= 3 -110 57.0 49.0(648 643 INN-2 9 -100 59.0 47.0
623 658 3N O = 9 -600 58.1 47.9(634 653 2v V= A -110 57.0 49.0 (658 629 24 S-2 ¢T -100 59.0 47.0
624 657 3N O = vJ -600 58.1 47.9 (652 635 24 O= 3 -110 57.0 49.0(533 552 2#V+1 «Q -110 490 57.0
631 650 3N O = vT -600 581 479|658 629 2v V= A -110 57.0 49.0(556 529 3¢ V= 9 -110 49.0 57.0
645 636 3NV = vT -600 581 479|556 529 INV+1 ¢5 -120 48.0 58.0|557 528 2# O+1 v2 -110 49.0 57.0
425 457 3NO+1 vJ] -630 245 815|422 428 24 V+1 #A -140 27.0 79.0|560 523 3¢ V= «9 -110 49.0 570
430 453 3NV+1 #Q -630 245 815|425 458 2v V+1 v5 -140 27.0 79.0|433 452 INO+1 4Q -120 40.0 66.0
432 451 3NO+1 vJ -630 245 815|426 457 2y V+1 aA -140 27.0 79.0 (449 436 2NO = v2 -120 40.0 66.0
444 443 3NV +1 vT -630 245 815|427 456 24 O+1 42 -140 27.0 79.0|460 423 INV+1 45 -120 40.0 66.0
448 435 3NO+1 ¢3 -630 245 815|449 436 24 V+1 ¢5 -140 27.0 79.0|652 635 2N O = «2 -120 40.0 66.0
454 429 3NV+1 vT -630 245 815|455 430 34 O= 3 -140 27.0 79.0(656 631 2NO = «Q -120 40.0 66.0
524 559 3NO+1 vJ -630 245 815460 423 34 O= 3 -140 270 79.0(451 434 3¢ V+1 9 -130 29.0 77.0
525 558 3NV+1 &K -630 245 815|531 554 2vV+l ¢5 -140 27.0 79.0(553 532 2#O+2 +Q -130 29.0 770
536 547 3NO+1 43 -630 245 815|533 552 2vV+1l 4Q -140 27.0 79.0(555530 3¢ V+1 #9 -130 29.0 77.0
546 537 3NV+1 #Q -630 245 815|545 544 24 O+1 &K -140 27.0 79.0(632 655 2¢ V+2 «A -130 29.0 77.0
549 534 3NO+1 43 -630 245 815|549 536 2v V+1 ¢5 -140 27.0 79.0(634 653 3¢ O+1 «Q -130 29.0 770
550 533 3NO+1 vJ -630 245 815|626 622 24 O+1 42 -140 27.0 79.0|659 628 3¢ O+1 «Q -130 29.0 77.0
554 529 3NO+1 46 -630 245 815|646 645 24 V+1 5 -140 27.0 79.0(431 454 3¢ V+2 vA -150 18.0 88.0
560 522 3NV +1 &K -630 245 815648 643 34 O= v6 -140 270 79.0|526 559 INV+2 3 -150 18.0 88.0
635 646 3NV+1 &K -630 245 815650 637 34 O= 3 -140 27.0 79.0 (551 534 34 S-3 ¢T -150 18.0 88.0
644 637 3NV+1 &K -630 245 815|651 636 24 O+1 42 -140 27.0 79.0(626 622 2v N -3 v4 -150 18.0 88.0
651 630 3NO+1 48 -630 245 815|654 633 24 O+1 &3 -140 27.0 79.0(654 633 INV+2 ¢7 -150 18.0 88.0
653 628 3NV+1 vT -630 245 815|656 631 34 O= 3 -140 27.0 79.0(651 636 INV+3 v7 -180 120 94.0
654 627 3NV+1 vT -630 245 815|659 628 24 O+1 &2 -140 27.0 79.0(447 438 3& N -4 LN -200 8.0 98.0
659 622 3NO+1 vJ -630 245 815|660 624 24 O+1 #3 -140 27.0 79.0 (657 630 2y N-4 *J -200 8.0 98.0
660 621 4N O = vJ -630 245 815|453 432 24 V+2 ¢5 -170 5.0 101.0 (660 624 2# S -4 3  -200 8.0 98.0
532 551 3NO+2 &5 -660 1.0 105.0 (638 649 3«4 V+1 ¢5 -170 5.0 101.0 (547 538 24D S-2 43  -300 3.0 103.0
629 652 3NV+2 v8 -660 1.0 105.0 (551 534 24 V+3 v5  -200 1.0 105.0|650 637 34DS-2 «9 -300 3.0 103.0
545 538 A+/A+ 63.6 63.6 657 630 3% N-2 v3  -200 1.0 105.0|453 432 3NO= &2  -600 0.0 106.0
7 « EK8654 Basta kontrakt 8 « EK107 Basta kontrakt 9 « ED62 Basta kontrakt
Syd v K764 5# V =-600 Vast v K86 ANT N =430 Nord v ED863 5# O D -1200
Alla +6 Ingen + KKn64 ov ¢ 764
*94 & ¢ v & NT *84 & ¢ v & NT *5 & ¢ v & NT
D 93 N13382 # 963 « 852 N8 8 9 8 10 & 754 & Kn83 N3 2 107 3
vD2 v E10985 S$13382 vEKn743 v10 S 889 8 10 v- v 1092 S 32 108 3
¢ EK1084 ¢ Kn7 O 1110105 7 ¢E73 ¢ 10982 054443 ¢ KD92 ¢ EKn105 0 10102 4 4
#K10852 #EKn76 V 1110105 7 *92 #EKn1076 V 5 4 4 4 3 #ED10862 #974 V 10102 4 4
4 Knl1072 & DKn4 « K109
v Kn3 v D952 v KKn754
¢ D9532 + D5 +83
«D3 #KD53 #KKn3
Par Kontr ut Res Poéang Par Kontr ut Res Poéang Par Kontr ut Res Poéang
631 654 34DN= 46 730 1040 2.0(653 632 3¢DV-4 «A 800 106.0 0.0(455 434 54DV-3 vA 800 106.0 0.0
656 629 34DN= v3 730 104.0 2.0(423 429 3NS+1 v3 430 95.0 11.0 (426 459 5#4DV-2 vA 500 1030 3.0
660 623 34DS= ¢A 730 1040 2.0(428 456 3NS+1 #9 430 95.0 11.0 (448 445 5#4DV-2 vA 500 1030 3.0
451 436 44 V-2 vJ 200 98.0 8.0(450 437 3NS+1 v3 430 95.0 11.0|424 430 4v N+1 &5 450 77.0 29.0
559 528 4v O-2 «J 200 98.0 8.0(527 521 3NS+1 v3 430 95.0 11.0|427 458 4v N+1 &4 450 77.0 29.0
633 652 44 O-2 vJ 200 98.0 8.0|547 544 3NN+1 »T 430 95.0 11.0|428 457 4v N+1 ¥3 450 77.0 29.0
651 634 24 N+2 ¢J 170 94.0 12.0(556 531 3NN+1 T 430 95.0 11.0(429 456 4v N+1 43 450 77.0 29.0
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428 456 24 N+1 ¢J 140 89.0 17.0|557 530 3NS+1 ¥3 430 95.0 11.0(433 421 4v N+1 &3 450 77.0 29.0
454 433 34 S= ¢+K 140 89.0 17.0(559 528 3NN+1 ¢9 430 95.0 11.0|447 446 4v N+1 &7 450 77.0 29.0
532 555 34 N= A 140 89.0 17.0(655 630 3NN+1 #J 430 95.0 11.0 (452 437 4v N+1 &4 450 77.0 29.0
552 535 34 N= ¢J 140 89.0 17.0(658 627 3NS+1 v3 430 95.0 11.0(453 436 4v N+1 &3 450 77.0 29.0
558 529 54 V-1 v7 100 83.0 23.0|421 431 3NS= 49 400 53.0 53.0|528 522 4y N+1 T 450 77.0 29.0
646 643 5& V-1 «A 100 83.0 23.0|422 430 3NS= 46 400 53.0 53.0|533 556 4v N+1 44 450 77.0 29.0
432 455 34 N-1 +J -100 74.0 32.0 (425 459 3NN-= vT 400 53.0 53.0|535 554 4v N+1 vT 450 77.0 29.0
446 445 44 N-1 *J -100 74.0 32.0 (427 457 3NS= 49 400 53.0 53.0(548 545 4v N+1 v2 450 77.0 29.0
625 621 34 N-1 +J -100 74.0 32.0 (434 453 3NN= &2 400 53.0 53.0|551 538 4v N+1 &7 450 77.0 29.0
637 648 44 N-1 +J -100 74.0 32.0 (446 445 3NN= ¢T 400 53.0 53.0|555 534 4v N+1 43 450 77.0 29.0
647 638 34 N-1 *J -100 74.0 32.0 (447 444 3NN= «J 400 53.0 53.0|557 532 4v N+1 &2 450 77.0 29.0
653 632 34 N-1 43 -100 74.0 32.0(448 443 3NS= 49 400 53.0 53.0|560 525 4v N+1 v3 450 77.0 29.0
657 628 44 N-1 43 -100 740 32.0(451 436 3NS= #9 400 53.0 53.0|622 630 4v S+1 &7 450 77.0 29.0
448 443 34V +1 #A -130 66.0 40.0|452 435 3NN= «J 400 53.0 53.0(628 624 4v N+1 43 450 77.0 29.0
421 431 44V +1 sA -150 56.0 50.0|460 424 3NN = ¢T 400 53.0 53.0(649 646 4v N+1 &4 450 77.0 29.0
422 430 3#V+2 ¢6 -150 56.0 50.0(523 525 3NN = vT 400 53.0 53.0(650 645 4v N+1 v2 450 77.0 29.0
546 545 44V +1 aA -150 56.0 50.0 (526 522 3NN = T 400 53.0 53.0(652 643 4v N+1 v2 450 77.0 29.0
551 536 44 O+1 4J -150 56.0 50.0 (546 545 3NN = ¢T 400 53.0 53.0(653 638 4v N+1 42 450 77.0 29.0
554 533 44 O+1 4 -150 56.0 50.0 (548 543 3N S = v3 400 53.0 53.0(656 635 4v N+1 vT 450 77.0 29.0
649 636 44 V+1 4A -150 56.0 50.0(551 536 3NN = «J 400 53.0 53.0(660 626 4v N+1 43 450 77.0 29.0
650 635 3&#V+2 4A -150 56.0 50.0|552 535 3NS= 43 400 53.0 53.0(422 432 4v N= &4 420 31.0 75.0
655 630 44 V+1 4A -150 56.0 50.0|554 533 3NS= «9 400 53.0 53.0(435 454 4v S= 42 420 31.0 75.0
658 627 44V +1 #A -150 56.0 50.0|560 524 3NN = 6 400 53.0 53.0 (443 450 4v N= 9 420 31.0 75.0
426 458 44V +2 &A -170 45.0 61.0(622 624 3NN = 43 400 53.0 53.0 (451 438 4v N= &4 420 31.0 75.0
557 530 44V +2 4A -170 45.0 61.0(626 659 3N S= «9 400 53.0 53.0 (460 425 4v N= &4 420 31.0 75.0
438 449 34DN-1 49 -200 37.0 69.0(631 654 3NN = «9 400 53.0 53.0(521 529 4v N= 4 420 31.0 75.0
447 444 34DN-1 ¢J -200 37.0 69.0(633 652 3NN= +J 400 53.0 53.0(524 526 4v N= &4 420 31.0 75.0
450 437 44DN-1 ¢J -200 37.0 69.0 (637 648 3NS= 43 400 53.0 53.0(527 523 4v N= &4 420 31.0 75.0
452 435 44DN-1 ¢J -200 37.0 69.0 (645 644 3NS= «9 400 53.0 53.0(547 546 4v N= &7 420 31.0 75.0
538 549 34DN-1 ¢J -200 37.0 69.0 (646 643 3NN= ¢T 400 53.0 53.0(552 537 4v N= vT 420 31.0 75.0
548 543 34DN-1 49 -200 37.0 69.0|647 638 3NS= 49 400 53.0 53.0(553 536 4v N= 6 420 31.0 75.0
622 624 44DN-2 &A -500 29.0 77.0|649 636 3N S= v3 400 53.0 53.0(559 530 4v N= 4 420 31.0 75.0
645 644 44DN-2 ¢J -500 29.0 77.0(650 635 3NS= +9 400 53.0 53.0(621 631 4v N= &4 420 31.0 75.0
423 429 54V = 4K -600 16.0 90.0(651 634 3NS= «9 400 53.0 53.0(625 627 4v N= &4 420 31.0 75.0
425 459 5& V= 4A -600 16.0 90.0 (656 629 3NN = +8 400 53.0 53.0(629 623 4v N= 4 420 31.0 75.0
434 453 5& V= «A -600 16.0 90.0 (657 628 3NN = 48 400 53.0 53.0(634 657 4v N= &4 420 31.0 75.0
460 424 54V = 4A -600 16.0 90.0(432 455 INS+2 46 150 18.0 88.0 (636 655 4v N = &5 420 31.0 75.0
526 522 54 V= 4K -600 16.0 90.0(454 433 INS+2 46 150 18.0 88.0 (644 651 4v N= v9 420 31.0 75.0
527 521 5& V= «A -600 16.0 90.0(660 623 2NS+1 49 150 18.0 88.0 (648 647 4v N = &4 420 31.0 75.0
534 553 5& V= 4K -600 16.0 90.0(625 621 24 N+1 vT 140 14.0 92.0 (654 637 4v S= ¢K 420 31.0 75.0
547 544 5V = 4A -600 16.0 90.0(534 553 INN+1 #J 120 12.0 94.0 (658 633 4v N = &7 420 31.0 75.0
550 537 5& O = «A -600 16.0 90.0(438 449 3NN-1 +9 -50 7.0 99.0(659 632 4v N= &4 420 31.0 75.0
560 524 5& V= 4A -600 16.0 90.0(532 555 3NN-1 *6 -50 7.0 99.0(549 544 54DV-1 vA 200 8.0 98.0
626 659 5& V= 4K -600 16.0 90.0 (550 537 3NS-1 a4 -50 7.0 99.0(423 431 3vy N+1 #4 170 4.0 102.0
427 457 54 V+1 &A  -620 2.0 104.0 [558 529 3N S-1 v3 -50 7.0 99.0(449 444 3vy N+1 #9 170 4.0 102.0
523 525 4y O = a7  -620 2.0 104.0 (426 458 3N N -2 6  -100 1.0 105.0 [543 550 3v N+1 &4 170 4.0 102.0
556 531 4v O = 47  -620 2.0 104.0 (538 549 3N N -2 T  -100 1.0 105.0 |558 531 4# V= «5 -130 0.0 106.0
10 442 Basta kontrakt 11 4 K9643 Basta kontrakt 12 4 EKN76 Basta kontrakt
Ost vDKn753 54 O =-650 Syd v 6432 4v V =-420 Vast v 108 ANT N =630
Alla + 96 Ingen +8 NS + EK83
»D862 & ¢ v & NT #1075 & ¢ v & NT »D65 & ¢ v & NT
« EK653 4 D109 N33713 4 E82 «D10 N26 364 498 4 K54 N 8 9 101010
vE42 v8 S33713 vKD875 vEKn S 26364 vD762 vK54 S 8 9 101010
¢+ ED2 ¢ Kn1075 O 10106 119 ¢ E1074 ¢ Kn5 O 107 107 9 496542 ¢ Kn7 054333
#93 #KKn754 V 10106 119 »6 #DKn98432 V 107 107 9 #E10 #Kn9732 V54333
& Kn87 4 Kn75 4 D1032
v K1096 v 109 v EKn93
+ K843 + KD9632 + D10
#E10 *EK *K84
Par Kontr Ut Res Poéng Par Kontr Ut Res Poéng Par Kontr Ut Res Poéang
448 445 44 V-1 44 100 103.0 3.0(657 632 3NV -4 44 200 106.0 0.0(421 435 3¢DV-4 T 800 1060 0.0
549 544 44 V-1 ¢9 100 103.0 3.0|560 526 3NV -3 42 150 1040 2.0(649 644 3NN+2 &5 660 1040 2.0
560 525 44 V-1 vQ 100 103.0 3.0|559 532 4v V-2 ¢8 100 102.0 4.0|554 537 44 N+1 44 650 1010 5.0
659 632 3NV-1 v3 100 103.0 3.0|427 459 44 O-1 ¢K 50 93.0 13.0(657 632 44 N+1 ¢J 650 101.0 5.0
543 550 24 V= ¢9 -110 98.0 8.0(448 447 3NV-1 +8 50 93.0 13.0(449 446 3NN+1 &3 630 96.0 10.0
650 645 INV+1 ¢5 -120 96.0 10.0 (453 438 3NV-1 ¢+8 50 93.0 13.0(529 523 3NN+1 &2 630 96.0 10.0
629 623 34 O+1 47 -130 94.0 12.0(521 531 4v V-1 +8 50 93.0 13.0(624 626 3NN+1 &2 630 96.0 10.0
447 446 INV+2 v5 -150 88.0 18.0(556 535 3v V-1 +8 50 93.0 13.0(425 431 44 N= v4 620 68.0 38.0
449 444 2NO+1 v9 -150 88.0 18.0(558 533 4v V-1 ¢+8 50 93.0 13.0 (427 459 44 N= ¢J 620 68.0 38.0
533 556 INV+2 vQ -150 88.0 18.0(643 650 2NV -1 +5 50 93.0 13.0 (429 457 44 N= ¢J 620 68.0 38.0
551 538 INV+2 ¢Q -150 88.0 18.0(660 625 3NV -1 +38 50 93.0 13.0 (450 445 44 N= ¢J 620 68.0 38.0
652 643 INV+2 ¢3 -150 88.0 18.0(434 422 44 N-1 vA -50 84.0 22.0|454 437 44 N= &7 620 68.0 38.0
435 454 24 O+2 ¢9 -170 80.0 26.0(549 546 34 N-2 vA -100 80.0 26.0|521 531 44 N= ¢J 620 68.0 38.0
555 534 24 V+2 &6 -170 80.0 26.0(627 623 34 N-2 vA -100 80.0 26.0|522 530 44 N= ¢J 620 68.0 38.0
649 646 24 V+2 vQ -170 80.0 26.0(628 622 24 N-2 ¢J -100 80.0 26.0 (525 527 44 S= ¢J 620 68.0 38.0
422 432 INV+3 ¢3 -180 75.0 31.0(454 437 34 0= ¢K -110 72.0 34.0|534 557 44 N= &2 620 68.0 38.0
453 436 INV+3 ¢5 -180 75.0 31.0(525 527 3# O = vT -110 720 34.0|536 555 44 N= ¢J 620 68.0 38.0
428 457 24 V+3 42 200 66.0 40.0(544 551 3% O = ¢K -110 72.0 34.0|550 545 44 N= *4 620 68.0 38.0
452 437 34 V+2 vQ -200 66.0 40.0(621 629 3& O = ¢K -110 72.0 34.0|552 543 44 N= 44 620 68.0 38.0
553 536 24 V+3 vQ -200 66.0 40.0(653 636 3& O = ¢K -110 72.0 34.0|553 538 44 S= ¢J 620 68.0 38.0
557 532 24 V+3 vQ -200 66.0 40.0(421 435 3#0+1 ¢K -130 50.0 56.0(556 535 44 N= ¢J 620 68.0 38.0
622 630 34 V+2 vQ -200 66.0 40.0 (424 432 44 0= ¢K -130 50.0 56.0|558 533 44 N = ¢J 620 68.0 38.0
653 638 24 V+3 vQ -200 66.0 40.0|428 458 34 O+1 45 -130 50.0 56.0(559 532 44 N= ¢J 620 68.0 38.0
654 637 34 V+2 vQ -200 66.0 40.0(429 457 34 O+1 ¢K -130 50.0 56.0(621 629 44 N= «4 620 68.0 38.0
528 522 INV+4 ¢9 -210 58.0 48.0(430 456 3#O+1 ¢Q -130 50.0 56.0(628 622 44 N= &2 620 68.0 38.0
429 456 24 V+4 ¢9 230 54.0 52.0(449 446 34 0O+1 ¢K -130 50.0 56.0(633 656 44 N = ¢J 620 68.0 38.0
451 438 34 V+3 vJ -230 54.0 52.0(450 445 3# O+1 &5 -130 50.0 56.0|643 650 44 N= +9 620 68.0 38.0
634 657 34 V+3 ¢9 -230 54.0 52.0(452 443 34 0O+1 ¢K -130 50.0 56.0(647 646 44 N= &2 620 68.0 38.0
658 633 3NV = v5 600 500 56.0|528 524 3# O+1 ¢K -130 50.0 56.0|648 645 44 N= ¢J 620 68.0 38.0
423 431 44 V= v3 620 38.0 68.0]|555 536 3#O+1 ¢K -130 50.0 56.0|652 637 44 N= ¢J 620 68.0 38.0
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427 458 44 V= vQ -620 38.0 68.0|553 538 34 O+1 44 -130 50.0 56.0 (653 636 44 N= +J 620 68.0 38.0
460 425 44 V= +9 -620 38.0 68.0 (554 537 3# O+1 K -130 50.0 56.0|660 625 44 N = &7 620 68.0 38.0
535 554 44 V= vQ -620 38.0 68.0|624 626 34 O+l 46 -130 50.0 56.0 (635 654 3NN = &2 600 42.0 64.0
547 546 44 V= vQ 620 380 68.0|635 654 3« O+1 ¢K -130 50.0 56.0|423 433 44 N-1 &2 -100 20.0 86.0
625 627 44 V= v3 -620 38.0 68.0 (647 646 3# O+1 K -130 50.0 56.0 (424 432 44 N-1 &2 -100 20.0 86.0
636 655 44 V= vQ -620 38.0 68.0|648 645 3#O+1 ¢K -130 50.0 56.0(428 458 44 N-1 &2 -100 20.0 86.0
644 651 44 V= vQ -620 38.0 68.0|659 630 3« O+1 ¢K -130 50.0 56.0(430 456 44 S-1 &2 -100 20.0 86.0
648 647 44 V= +9 -620 38.0 68.0 (423 433 2v V +1 +8 -140 28.0 78.0 (434 422 44 N-1 &2 -100 20.0 86.0
656 635 44 V= vQ -620 38.0 68.0|436 455 3v V= +8 -140 28.0 78.0(436 455 44 N-1 &3 -100 20.0 86.0
660 626 44 V= +9 -620 38.0 68.0(522 530 2vy O+1 ¢38 -140 28.0 78.0(444 451 44 N-1 &3 -100  20.0 86.0
424 430 44 V +1 vyQ -650 17.0 89.0(552 543 2v V+1 +8 -140 28.0 78.0 (448 447 46 N-1 &2 -100 20.0 86.0
433 421 44 V+1 vyQ -650 17.0 89.0(651 638 2v V +1 +8 -140 28.0 78.0|452 443 44 N-1 &3 -100 20.0 86.0
443 450 44 V +1 +9 -650 17.0 89.0 (425 431 34 N-3 vA -150 20.0 86.0 (453 438 44 N-1 *J -100  20.0 86.0
524 526 44 V +1 vlJ -650 17.0 89.0 (460 426 3 O+2 &A -150 20.0 86.0 (460 426 44 N-1 &2 -100 20.0 86.0
527 523 44 V +1 vQ -650 17.0 89.0 (550 545 24 N -3 vA -150 20.0 86.0(528 524 44 N-1 &2 -100 20.0 86.0
548 545 44 V +1 vyQ -650 17.0 89.0(655 634 1v V +3 +8 -170 16.0 90.0 |544 551 4 N-1 &2 -100  20.0 86.0
558 531 44 V +1 vQ -650 17.0 89.0 (548 547 1lv V +4 +8 -200  14.0 92.0 548 547 4 N-1 &2 -100 20.0 86.0
559 530 44 V +1 vyQ -650 17.0 89.0(534 557 3NV= +8 -400 11.0 95.0(549 546 44 N-1 &3 -100 20.0 86.0
621 631 44 O+1 vQ -650 17.0 89.0|633 656 3NV = LY -400 11.0 95.0 (560 526 4 N-1 &2 -100  20.0 86.0
628 624 44 V +1 vyQ -650 17.0 89.0(649 644 4v V= +8 -420 8.0 98.0 (627 623 44 S-1 &#A -100 20.0 86.0
426 459 44 V +2 vQ -680 3.0 103.0 {529 523 3«4DN-3 A -500 6.0 100.0 (651 638 44 N-1 &2 -100 20.0 86.0
455 434 44 V +2 vQ -680 3.0 103.0 (444 451 44D O= ¢K -510 4.0 102.0 |655 634 44 N-1 &2 -100  20.0 86.0
521 529 44 V +2 vQ -680 3.0 103.0 (652 637 34D N - vA -800 1.0 105.0 |658 631 44 N-1 &2 -100 20.0 86.0
552 537 44 V +2 &6 -680 3.0 103.0 (658 631 3¢DS-4 ¢K -800 1.0 105.0 |659 630 44 N -1 &2 -100 20.0 86.0
13 486432 Basta kontrakt 14 & KKn87 Basta kontrakt 15 4 Kn82 Basta kontrakt
Nord v7 34 N =140 Ost v 1072 6NT S =990 Syd v K9 34 V =-140
Alla + Kn873 Ingen + K1086 NS + EK92
#1072 & ¢ v & NT &95 & ¢ v & NT #Kn986 & ¢ v & NT
& Kn & E95 N5 7597 #105 & D643 N 11118 1010 & 754 4EKD1063 N 8 7 7 4 4
vE943 8652 S57597 v K9543 vKn86 S 12128 1112 v E82 v 1065 S87 7 44
+10652 ¢94 O86 846 +75 49432 011521 ¢ DKn763 ¢ 10 045597
&#E986 #KD43 V 8 6 846 &#K643  #Kn2 v1i1i521 &K7 D103 V45597
& KD107 4 E92 49
v KDKn10 vED v DKn743
+ EKD ¢ EDKn ¢ 854
#Kn5 #ED1087 #E542
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
426 432 44 S+1 v4 650 105.0 1.0|545 552 6N S= T 990 106.0 0.0 (635 658 14 N +2 vQ 140 106.0 0.0
430 457 44 S+1 +6 650 105.0 1.0(425 433 3N S+3 4T 490 72.7 33.3|655 638 24 N= vK 110 104.0 2.0
435 423 44 S= ¢+2 620 101.0 5.0(428 459 3N S +3 T 490 72.7 33.3|425 435 44 O-1 vQ 50 94.0 12.0
450 447 44 S= +5 620 101.0 5.0(430 457 3N S+3 T 490 72.7 33.3|431 457 44 O-1 vQ 50 94.0 12.0
535 558 4vDO-2 vK 500 98.0 8.0|431 456 3N S +3 4T 490 72.7 33.3|432 456 44 O-1 &A 50 94.0 12.0
521 533 2N S +3 +5 210 93.0 13.0|435 423 3N S +3 T 490 72.7 33.3|451 448 44 O-1 vJ 50 94.0 12.0
529 525 2N S +3 2 210 93.0 13.0|437 421 3N S +3 v3 490 72.7 33.3|455 444 44 O-1 +8 50 94.0 12.0
559 534 2N S +3 ¢+6 210 93.0 13.0|445 452 4N S +2 4T 490 72.7 33.3|523 533 44 O-1 vQ 50 94.0 12.0
660 628 2N S +3 +5 210 93.0 13.0|449 448 3N S +3 v4 490 72.7 33.3|546 553 44 O-1 vJ 50 94.0 12.0
445 452 34 S +2 «J 200 85.0 21.0|450 447 3N S +3 v4 490 72.7 33.3|556 543 44 O-1 vQ 50 94.0 12.0
555 538 34 S +2 ¢2 200 85.0 21.0|453 444 3N S +3 v4 490 72.7 33.3|637 656 44 O-1 vQ 50 94.0 12.0
627 629 24 N +3 +4 200 85.0 21.0|454 443 3N S +3 T 490 72.7 33.3|629 625 24 O = *4 -110 83.0 23.0
650 649 34 S +2 «J 200 85.0 21.0|522 532 3N S +3 v4 490 72.7 33.3|657 636 24 O= vyQ -110 83.0 230
425 433 34 S+1 +5 170 78.0 28.0|523 531 3N N +3 a4 490 72.7 333|427 433 24 O+1 vQ -140 66.0 40.0
631 625 24 N +2 2 170 78.0 28.0|526 528 3N S +3 v4 490 72.7 33.3|429 459 34 O = 49 -140 66.0 40.0
651 648 34 S+1 «J 170 78.0 28.0|529 525 3N S +3 v4 490 72.7 33.3|436 424 34 O = *2 -140 66.0 40.0
428 459 34 S= +5 140 55.0 51.0|530 524 3N S +3 v4 490 72.7 33.3|438 422 34 O = vQ -140 66.0 40.0
429 458 34 N= &K 140 55.0 51.0|535 558 3N S +3 T 490 72.7 33.3|450 449 34 O= +5 -140 66.0 40.0
449 448 24 N +1 +9 140 55.0 51.0|549 548 3N S +3 v4 490 72.7 33.3|454 445 34 O = vQ -140 66.0 40.0
451 446 34 S= ¢+6 140 55.0 51.0|551 546 3N S +3 4T 490 72.7 333|524 532 34 O= vQ -140 66.0 40.0
453 444 34 S= ¢+6 140 55.0 51.0|554 543 3N S +3 v3 490 727 333|527 529 24 O+1 vQ -140 66.0 40.0
454 443 34 S= +6 140 55.0 51.0|555 538 3N S +3 v4 490 72.7 33.3|536 559 34 O= vQ -140 66.0 40.0
522 532 24 N+1 +9 140 55.0 51.0|557 536 3N S +3 4T 490 72.7 33.3|554 545 34 O = v3 -140 66.0 40.0
523 531 34 N= &K 140 55.0 51.0|559 534 3N S +3 v4 490 72.7 333|555 544 24 O+1 3 -140 66.0 40.0
530 524 24 N +1 +9 140 55.0 51.0|621 635 3N S +3 v3 490 72.7 33.3|560 528 24 O+1 ¢3 -140 66.0 40.0
537 556 24 N +1 +9 140 55.0 51.0|622 634 3N S +3 v3 490 72.7 33.3|630 624 24 V +1 ¢A -140 66.0 40.0
551 546 34 S= ¢+6 140 55.0 51.0|623 633 3N S +3 v4 490 72.7 33.3|651 646 34 O = vQ -140 66.0 40.0
553 544 34 S= +5 140 55.0 51.0|624 632 3N S +3 v4 490 72.7 33.3|653 644 34 V= vQ -140 66.0 40.0
557 536 34 S= 4J 140 55.0 51.0|631 625 3N N +3 v3 490 72.7 333|423 437 34 O+1 ¢3 -170  41.0 65.0
560 527 34 N= 5 140 55.0 51.0|646 653 3N S +3 v3 490 72.7 33.3]|521 535 24 O+2 44 -170 41.0 65.0
622 634 24 N+1 &3 140 55.0 51.0|650 649 3N S +3 v4 490 72.7 33.3|522 534 34 V+1 ¢A -170 410 65.0
636 659 24 N+1 &K 140 55.0 51.0|654 645 3N S +3 v3 490 72.7 33.3|530 526 24 O+2 ¢4 -170  41.0 65.0
646 653 34 S= +5 140 55.0 51.0|424 434 3N S +2 v3 460 32.2 738|551 548 24 O+2 48 -170 41.0 65.0
652 647 34 S= «J 140 55.0 51.0|451 446 3N S +2 v4 460 32.2 738|552 547 34 O+1 &A -170 41.0 65.0
654 645 34 S= +5 140 55.0 51.0|455 438 3N S +2 T 460 32.2 73.8|558 537 24 O+2 ¢4 -170  41.0 65.0
655 644 24 N +1 +9 140 55.0 51.0|537 556 3N S +2 v3 460 32.2 738|622 632 34 O+1 ¢3 -170 41.0 65.0
658 637 2N S = v4 120 34.0 72.0 (550 547 3N S +2 T 460 322 73.8(623 631 34 O+1 ¢4 -170 410 65.0
630 626 1% S= L 70 32.0 74.0|560 527 3N S +2 v2 460 322 738|649 648 34 O+1 45 -170 410 65.0
424 434 44 S-1 +5 -100  19.0 87.0(636 659 3N S +2 T 460 32.2 738|626 628 INDV= ¢A -180 30.0 76.0
431 456 44 S-1 +5 -100 19.0 87.0(658 637 3N S +2 T 460 32,2 73.8(421 443 34 O+2 8 -200 240 82.0
437 421 44 N-1 +5 -100 19.0 87.0|426 432 44 S+1 ¢7 450 229 83.1)|430 458 24 O+3 45 -200 240 820
455 438 34 S-1 +5 -100  19.0 87.0(422 436 3NS+1 v4 430 16.7 89.3 645 652 44 N -2 A -200 24.0 82.0
460 427 44 N-1 v5 -100  19.0 87.0 (429 458 3NN +1 v6 430 16.7 89.3|650 647 34 O+2 &5 -200 240 82.0
526 528 44 S-1 +6 -100 19.0 87.0(521 533 3N S+1 ¢7 430 16.7 89.3|660 627 24 O+3 +38 -200 240 820
545 552 2N N-1 v3 -100  19.0 87.0(627 629 3NS+1 v3 430 16.7 89.3 426 434 44 O = *4 -420 120 94.0
549 548 44 N-1 +9 -100  19.0 87.0(660 628 3N S +1 v3 430 16.7 89.3 446 453 44 O = *4 -420 12.0 94.0
554 543 44 N-1 +5 -100 19.0 87.0(638 657 3NS= v8 400 7.3 98.7 [452 447 44 O = &A 420 12.0 94.0
621 635 44 S-1 s -100  19.0 87.0(652 647 3NS= &4 400 7.3 98.7 1460 428 44 O= vQ -420 120 94.0
624 632 44 S-1 e -100  19.0 87.0(655 644 3NN = v6 400 7.3 98.7 550 549 44 O= +5 -420 12.0 94.0
638 657 2NS-1 +6 -100 19.0 87.0(656 643 3N S= v3 400 7.3 98.7 1621 633 44 V= ¢A 420 120 94.0
623 633 2v V= a2 -110 6.0 100.0 (630 626 6N S -1 *2 -50 2.1 103.9 |659 634 44 O= *4 -420 120 94.0
422 436 3NS-2 &6 -200 3.0 103.0 (553 544 6NN -3 v6 -150 0.0 106.0 |538 557 3«aDO= vQ -530 4.0 102.0
656 643 44 S -2 +5 -200 3.0 103.0 |460 427 A+/A+ 63.6 63.6|531 525 44DO= ¢Q -590 1.0 105.0
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550 547 54 S-3 aJ -300 0.0 106.0 |651 648 A+/A+ 63.6 63.6 (654 643 44DO= vQ -590 1.0 105.0
16 # 10985 Basta kontrakt 17 & K542 Basta kontrakt 18 « E1054 Basta kontrakt
Vast v EK85 6NT N =990 Nord v9 7NT N =1520 Ost v72 5v O D -2 300
ov + D87 Ingen 4 EKKn NS + DKn8
*ED & ¢ v & NT *EK862 & ¢ v & NT #Kn1054 & ¢ v & NT
4764 4D32 N 8 12111112 49863 4 DKnl0 N 1113111113 487 &« KKn93 N 11114 107
v 96 v D107 S 8 12111212 vKnl03 v76542 S 1113111113 vKn98543 v EKD106 S 11114 107
+ K963 ¢4 051211 ¢54 + D8 020120 ¢ 64 4752 022935
K875 #Kn109632 V 5 1 2 11 #9754  #DKn10 V20120 D76 &3 V22935
& EKKn s E7 D62
v Kn432 v EKD8 v-
¢ EKn1052 41097632 + EK1093
*4 *3 #EK982
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
431 457 6NN = «J 990 105.0 1.0|433 456 7NN = «Q 1520 105.0 1.0|525 533 6# N= 9 1370 106.0 0.0
432 456 6N N = &J 990 105.0 1.0(532 526 7NS= &5 1520 105.0 1.0 (447 454 5& N = vA 600 95.0 11.0
621 633 24DV-3 vA 800 102.0 4.0 (452 449 7¢ S= +J 1440 101.0 5.0 (455 446 5# S= 8 600 95.0 11.0
460 428 3NN+3 #J 490 100.0 6.0|623 637 7¢ S= 9 1440 101.0 5.0|523 535 5# N= vA 600 95.0 11.0
430 458 3NN+2 &J 460 98.0 8.0(421 445 6N S +1 vJ 1020 92.0 14.0|524 534 5& N = vA 600 95.0 11.0
421 443 49y N+1 ¢4 450 68.0 38.0 (426 436 6NN+1 4Q 1020 92.0 14.0|537 521 5& N = vA 600 95.0 11.0
423 437 4v N+1 ¢4 450 68.0 38.0 (547 554 6NS+1 43 1020 92.0 14.0 (623 637 5& N = vA 600 95.0 11.0
425 435 5y N= &J 450 68.0 38.0|557 544 6N S +1 vJ 1020 92.0 14.0|629 631 5& N= vA 600 95.0 11.0
426 434 49y N+1 ¢4 450 68.0 38.0(633 627 6NS+1 &7 1020 92.0 14.0|632 628 5& N = vA 600 95.0 11.0
427 433 4v N+1 ¢4 450 68.0 38.0(638 622 6NN+1 #Q 1020 92.0 14.0 (633 627 5& N = vyK 600 95.0 11.0
429 459 4y N+1  &J 450 68.0 38.0 (644 659 6N S +1 vJ 1020 92.0 14.0|638 622 5& N = vK 600 95.0 11.0
436 424 4v N+1 2 450 68.0 38.0|522 536 6N S = vJ 990 83.0 23.0|427 435 5vDO-3 ¢A 500 79.0 27.0
450 449 4v S+1 44 450 68.0 38.0 (555 546 6N S = vT 990 83.0 23.0|437 425 5vDO-3 ¢A 500 79.0 27.0
454 445 4v N+1  #J 450 68.0 38.0 (422 444 64 S+1 vJ 940 72.0 34.0|451 450 5vDO-3 &K 500 79.0 27.0
521 535 4v N+1 #J 450 68.0 38.0(523 535 64 S+1 vJ 940 72.0 34.0|560 529 5¢vD O-3 &A 500 79.0 27.0
523 533 4vy N+1 #J 450 68.0 38.0(524 534 64 S+1 46 940 72.0 34.0|626 634 5vDO-3 ¢A 500 79.0 27.0
524 532 4v N+1 ¢4 450 68.0 38.0(525 533 64 S+1 ¢5 940 72.0 34.0|653 650 5¢DO-3 ¢A 500 79.0 27.0
531 525 4v N+1 #J 450 68.0 38.0(559 538 64 S+1 vJ 940 72.0 34.0|421 445 5vDO-2 &A 300 59.0 47.0
538 557 4vy N+1 #J 450 68.0 38.0(621 643 64 S+1 46 940 72.0 34.0|426 436 5vDO-2 &A 300 59.0 47.0
546 553 4v N+1 #J 450 68.0 38.0(629 631 64 S+1 vJ 940 72.0 34.0|430 459 5vDO-2 ¢K 300 59.0 47.0
550 549 4y S+1 46 450 68.0 38.0(632 628 64 S+1 vJ 940 72.0 34.0|443 423 5vDO-2 &A 300 59.0 47.0
551 548 5v N = ¢4 450 68.0 38.0|657 646 64 N+1 4Q 940 72.0 34.0|452 449 5vDO-2 &A 300 59.0 47.0
552 547 4v N+1 ¢4 450 68.0 38.0|447 454 64 S = vT 920 60.0 46.0|460 429 5vDO-2 &A 300 59.0 47.0
556 543 4v N+1 ¢4 450 68.0 38.0|553 548 64 S= vJ 920 60.0 46.0|532 526 5¢DO-2 ¢A 300 59.0 47.0
558 537 4vy N+1 ¢3 450 68.0 38.0 (560 529 6¢ S= 46 920 60.0 46.0|543 558 5¢vDO-2 &A 300 59.0 47.0
560 528 4y N+1 ¢4 450 68.0 38.0 (427 435 3NS+4 48 520 340 72.0|551 550 5¢vDO-2 &A 300 59.0 47.0
626 628 4v N+1 ¢4 450 68.0 38.0(428 434 3INS+4 vJ 520 34.0 72.0(553 548 5vDO-2 #A 300 59.0 47.0
629 625 4y N+1 ¢4 450 68.0 38.0 (430 459 4N S +3 vJ 520 340 72.0|644 659 5vDO-2 &A 300 59.0 47.0
645 652 4y N+1 #J 450 68.0 38.0(431 458 4NS+3 &3 520 340 720|654 649 5vDO-2 ¢A 300 59.0 47.0
649 648 5v N = ¢4 450 68.0 38.0|432 457 3NN+4 v6 520 34.0 72.0(658 645 5vDO-2 ¢A 300 59.0 47.0
651 646 4y N+1 ¢4 450 68.0 38.0(443 423 3NS+4 46 520 34.0 72.0(660 630 5vDO-2 ¢A 300 590.0 47.0
654 643 4v N+1 ¢4 450 68.0 38.0(451 450 3NS+4 vJ 520 34.0 72.0|433 456 3¢ S+2 43 150 44.0 62.0
657 636 4v N+1 ¢4 450 68.0 38.0(453 448 3NS+4 vJ 520 34.0 72.0 (428 434 5v O-2 «A 100 350 71.0
660 627 4v N+1 T 450 68.0 38.0 (455 446 3NN+4 4Q 520 34.0 72.0(547 554 5v O-2 ¢+A 100 35.0 71.0
650 647 4v N = &J 420 38.0 68.0|460 429 3NS+4 46 520 340 72.0|552 549 3NV-2 4 100 35.0 71.0
446 453 6v N-1 &J -50 19.0 87.0|528 530 3NS+4 ¢5 520 34.0 72.0(555 546 4vDO-1 #A 100 35.0 71.0
451 448 6v N-1 *4 -50 19.0 87.0(543 558 3NN+4 #Q 520 340 72.0|621 643 5v O-2 +K 100 35.0 71.0
452 447 6y N-1 *4 -50 19.0 87.0|551 550 3NS+4 &7 520 340 72.0|625 635 5y O-2 ¢+A 100 35.0 71.0
455 444 6v N-1 +5 -50 19.0 87.0|552 549 3NS+4 ¢5 520 34.0 72.0(652 651 4vDO-1 #A 100 35.0 71.0
522 534 6v N-1 &J -50 19.0 87.0(556 545 3NS+4 ¢J 520 34.0 72.0|656 647 4vDO-1 &K 100 35.0 71.0
527 529 6v N-1 LN -50 19.0 87.0(624 636 3NS+4 vJ 520 340 72.0|424 438 4v O-1 ¢A 50 21.0 85.0
530 526 6v N-1 *4 -50 19.0 87.0|626 634 3NS+4 &5 520 34.0 72.0(431 458 4v O-1 +K 50 21.0 85.0
536 559 6v S-1 +6 -50 19.0 87.0(648 655 3NN+4 «Q 520 34.0 72.0|432 457 4v O-1 «A 50 21.0 85.0
554 545 6v N-1 LY -50 19.0 87.0|653 650 3NN+4 4Q 520 340 72.0|453 448 4v O-1 «A 50 21.0 85.0
555 544 6v N-1 &J -50 19.0 87.0(654 649 3NS+4 ¢J 520 34.0 72.0(528 530 4v O-1 ¢+A 50 21.0 85.0
622 632 6v S-1 +6 -50 19.0 87.0(656 647 3NS+4 ¢J 520 34.0 72.0(557 544 4v O-1 «A 50 21.0 85.0
623 631 6v N-1 &T -50 19.0 87.0|658 645 3NN+4 #Q 520 34.0 72.0|559 538 6# N-1 vK -100 13.0 93.0
630 624 6v N-1 2 -50 19.0 87.0(660 630 3NN+4 ¢6 520 34.0 72.0 (657 646 6% N -1 vA -100 13.0 93.0
635 658 6v N-1 +9 -50 19.0 87.0 (437 425 3N S +3 +5 490 10.0 96.0 (422 444 6¢DN-1 ¥5 -200 7.0 99.0
637 656 6v N-1 +3 -50 19.0 87.0(531 527 5¢ S+2 vJ 440 7.0 99.0|556 545 44 N -2 vA -200 7.0 99.0
653 644 6v N-1 +5 -50 19.0 87.0(625 635 5¢ S+2 vJ 440 7.0 99.0(624 636 64DN-1 vA -200 7.0 99.0
655 638 6v S-1 a7 -50 19.0 87.0(652 651 5¢ S+1 vJ 420 4.0 102.0 (648 655 6#DN-1 vA  -200 7.0 99.0
659 634 6v N-1 *4 -50 19.0 87.0|424 438 74 S-1 a7 -50 1.0 105.0 {522 536 54 N -3 vK  -300 1.0 105.0
438 422 6v N -2 &J -100 0.0 106.0 {537 521 7¢ S-1 v] -50 1.0 105.0 [531 527 54 N-3 vA  -300 1.0 105.0
19 « KDKn104 Bésta kontrakt 20 & 8752 Basta kontrakt 21 « ED986 Basta kontrakt
Syd vKnl1076 5NT N =460 Vast v 1083 5NTV =-660 Nord v5 44 N =620
oV +6 Alla 4763 NS + D52
*K75 & ¢ v & NT #Kn82 & ¢ v & NT #EDKn4 & ¢ v & NT
#E9532 476 N 8 11101011 .- « ED104 N50161 a7 « Kn1042 N 8 106 108
v42 v ED9 S 8 10101010 vE97652 vKKn4 S50161 vKD32 vEKn84 S 8 107 108
¢+ 54 410873 052332 ¢ KKn102 ¢ ED9%4 07 11117 11 ¢ K1096 ¢ 87 053635
D643 10982 V523832 #D65 94 vV 7 11116 11 #10953 #762 V53635
48 & KKn963 & K53
v K853 vD v 10976
+ EKDKn92 + 85 ¢+ EKn43
#EKn #EK1073 *K8
Par Kontr ut Res Poéang Par Kontr ut Res Poéang Par Kontr ut Res Poéang
434 456 6N N = &2 990 106.0 0.0|428 436 44 O-5 vQ 500 106.0 0.0|646 622 44DN= 9 790 106.0 0.0
448 455 3NS+3 46 490 103.0 3.0 (438 426 6v V-2 5 200 104.0 2.0|522 544 44 N+1 #2 650 101.0 5.0
548 555 3NN+3 47 490 103.0 3.0(525 535 6v V-1 &2 100 101.0 5.0|533 529 44 N+1 8 650 101.0 5.0
659 638 4v N+2 T 480 100.0 6.0 (625 633 6v V-1 8 100 101.0 5.0|626 638 44 N+1 8 650 101.0 5.0
523 537 3N S +2 +5 460 92.0 14.0|460 430 2¢ O+4 &A -170 98.0 8.0(655 652 44 N+1 ¢8 650 101.0 5.0
524 536 3NS+2 #3 460 92.0 14.0|558 545 4v V= v3 -620 95.0 11.0 (422 448 44 N= +K 620 57.0 49.0
532 528 3NS+2 #4 460 92.0 14.0 (632 626 4v V= &2 -620 95.0 11.0 (424 446 44 N= &5 620 57.0 49.0
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557 546 3NS+2 #2 460 92.0 14.0(422 446 4v V+1 8 -650 55.0 51.0|426 444 44 N= +8 620 57.0 49.0
631 627 3NN+2 #6 460 92.0 14.0 (423 445 4v V+1 8 -650 55.0 51.0|428 438 44 N= +8 620 57.0 49.0
655 646 3NN+2 &T 460 92.0 14.0 (425 443 4v V+1 #2 -650 55.0 51.0|429 437 44 N= vA 620 57.0 49.0
657 644 4ANS+1 #3 460 92.0 14.0 (427 437 5v V= 45 650 55.0 51.0|430 436 44 N= +8 620 57.0 49.0
428 436 5v S= %6 450 72.0 34.0(429 435 4v V+1 #2 -650 55.0 51.0|432 459 44 N= +8 620 57.0 49.0
431 459 5v S= v4 450 72.0 34.0(431 459 4v V+1 45 -650 55.0 51.0|433 458 44 N= ¢8 620 57.0 49.0
433 457 4v S+1  #3 450 72.0 34.0(433 457 4y V+1 #2 -650 55.0 51.0|435 456 44 N= *2 620 57.0 49.0
526 534 4v S+1 #4 450 72.0 34.0(434 456 4y V+1 #2  -650 55.0 51.0|443 427 44 N= +8 620 57.0 49.0
533 527 5v S= «A 450 72.0 34.0 (453 450 5v V= #2 -650 55.0 51.0(445 425 44 S= vK 620 57.0 49.0
544 559 4y S+1 #4 450 72.0 34.0(454 449 4y V+1 42 -650 55.0 51.0|449 421 44 N= +8 620 57.0 49.0
556 547 4v S+1  #4 450 72.0 34.0(521 543 4y V+1 45 -650 55.0 51.0|453 452 44 N= +8 620 57.0 49.0
622 636 5v S= +9 450 72.0 34.0(523 537 4v V+1 #2 -650 55.0 510|454 451 44 N= ¢8 620 57.0 49.0
623 635 4v S+1  #3 450 72.0 34.0(526 534 4y V+1 #J -650 55.0 51.0|455 450 44 N= +8 620 57.0 49.0
624 634 5v N = «T 450 72.0 34.0(529 531 4y V+l1 #2 -650 55.0 51.0|460 431 44 N= +8 620 57.0 49.0
643 658 4y S+1  #4 450 72.0 34.0(532 528 4v V+1 45 -650 55.0 510|525 537 44 N= *2 620 57.0 49.0
651 650 4v S+1  #4 450 72.0 34.0(533 527 4vV+1 4 -650 55.0 51.0|526 536 44 N= +8 620 57.0 49.0
656 645 4v S+1  #4 450 72.0 34.0(538 522 4y V+1 45 -650 55.0 51.0|527 535 44 N= +8 620 57.0 49.0
421 447 4y N= T 420 46.0 60.0|544 559 4y V+1 #2 -650 55.0 51.0(534 528 44 S= vK 620 57.0 49.0
423 445 4v S= *4 420 46.0 60.0 (548 555 4v V+1 48 -650 55.0 51.0(543 523 44 N= +8 620 57.0 49.0
427 437 4y N= #8 420 46.0 60.0 (552 551 4v V+1 45 -650 55.0 51.0 (553 552 44 N= vA 620 57.0 49.0
429 435 4v N= T 420 46.0 60.0|553 550 4y V+1 #3 -650 55.0 51.0(554 551 44 N= ¢7 620 57.0 49.0
452 451 4y N= +9 420 46.0 60.0 (554 549 4v V+1 &5 -650 55.0 51.0(555 550 44 N= +8 620 57.0 49.0
454 449 4v S= #4420 46.0 60.0 (556 547 4v V+1 #2 -650 55.0 51.0(|557 548 44 N= +8 620 57.0 49.0
521 543 4y S= v4 420 46.0 60.0|557 546 4y V+1 45 -650 55.0 51.0(558 547 44 N= ¢8 620 57.0 49.0
525 535 4v S= *4 420 46.0 60.0 (560 530 4v V+1 #2 -650 55.0 51.0(559 546 44 N= ¢7 620 57.0 49.0
529 531 4v S= #4420 46.0 60.0 (623 635 5v V= 45 650 55.0 510|560 531 44 N= vA 620 57.0 49.0
552 551 4y S= T 420 46.0 60.0(628 630 5v V= #2 -650 55.0 51.0(621 647 44 N= vA 620 57.0 49.0
554 549 4y S= &5 420 46.0 60.0 (631 627 4v O+1 #2 -650 55.0 51.0(623 645 44 N= ¢5 620 57.0 49.0
647 654 4y S= #4420 46.0 60.0 (637 621 4v V+1 ¢3 -650 55.0 51.0(627 637 44 N= +8 620 57.0 49.0
660 629 4v S= ¢5 420 46.0 60.0 (643 658 5v V= «2 650 55.0 510|628 636 44 N= +8 620 57.0 49.0
422 446 3NS-1 3 -50 19.0 87.0|647 654 4y V+1 42 -650 55.0 51.0|631 633 44 N= +8 620 57.0 49.0
425 443 5v N-1  &T -50 19.0 87.0|651 650 4y V+1 #2 -650 55.0 51.0(634 630 44 N= vA 620 57.0 49.0
432 458 5v S-1 *4 -50 19.0 87.0|652 649 4v V+1 ¢3 -650 55.0 51.0(635 629 44 N= 3 620 57.0 49.0
438 426 5v S-1 v4 -50 19.0 87.0|653 648 4y V+1 45 -650 55.0 51.0|644 624 44 N= +8 620 57.0 49.0
453 450 5v S-1 &K -50 19.0 87.0(|655 646 4y V+1 #2 -650 55.0 51.0|650 657 44 N= +8 620 57.0 49.0
460 430 6v S-1 v2 -50 19.0 87.0|656 645 5v V= ¢7 -650 55.0 51.0(658 649 44 N= ¢8 620 57.0 49.0
538 522 5v S-1 v4 -50 19.0 87.0|657 644 5v V= #2 650 55.0 51.0(659 648 44 N= ¢3 620 57.0 49.0
553 550 5v N-1 47 -50 19.0 87.0|659 638 4v O+1 #A -650 55.0 51.0|660 632 44 N= +8 620 57.0 49.0
558 545 7N S-1 +Q -50 19.0 87.0|448 455 3NO+2 &K -660 16.0 90.0|423 447 5vDV-3 «A 500 16.0 90.0
560 530 5v N-1  #8 -50 19.0 87.0421 447 4y V+2 45 680 14.0 92.0|545 521 34 N+1 ¢8 170 14.0 92.0
625 633 3NN-1 &T -50 19.0 87.0|432 458 34DS-3 vA -800 11.0 950|654 653 2yDO-1 vT 100 12.0 94.0
637 621 5v S-1 a A -50 19.0 87.0|660 629 34DS-3 vA -800 11.0 95.0|530 532 44 N-1 vA -100 8.0 98.0
652 649 5v S-1 v2 -50 19.0 87.0|444 424 44DN-4 vA -1100 5.0 101.0 (625 643 44 N-1 8 -100 8.0 98.0
653 648 5v N-1 2 -50 19.0 87.0|524 536 44DS-4 vA -1100 5.0 101.0 (656 651 44 N-1 ~ vA -100 8.0 98.0
628 630 64 S-2 v2 -100 4.0 102.0 622 636 44DS-4 vA -1100 5.0 101.0 (434 457 64 N-2 vA  -200 2.0 104.0
444 424 6NN-4  «T -200 1.0 105.0|624 634 44DS-4 &5 -1100 5.0 101.0 (524 538 64 N-2 vA  -200 2.0 104.0
632 626 6NN-4  #T  -200 1.0 105.0 |452 451 3NRDV +3 #2 -2200 0.0 106.0 549 556 64 N -2 vA  -200 2.0 104.0
22 4 E87 Basta kontrakt 23 &K Basta kontrakt 24 474 Basta kontrakt
Ost v KKn 3NT S =400 Syd v KDKn87 5v SD-2-500 Vast vE6 4% N =130
ov + Kn96 Alla +73 Ingen + Kn109753
#KKn1096 & ¢ v & NT #K10982 & ¢ v & NT #765 & ¢ v & NT
4632 «DKnl094 N 10106 6 9 4108732 & EKn654 N669 26 4K862 4EKN93 N 109 5 5 8
v9872 vEDG63 S 10106 6 9 v54 v62 S56926 vKn103 vD7542 S 109 5 5 8
¢ K743 #1105 033673 ¢ ED1086 ¢ - 077 4 107 ¢ED62 +84 034874
D8 442 V33673 *6 #EDKn754 V 7 7 4 107 *Kn9 103 V34874
4 K5 4D9 4 D105
v 1054 v E1093 v K98
+ ED82 ¢ KKn9542 +K
#E753 %3 #EKD842
Par Kontr ut Res Poéang Par Kontr ut Res Poéang Par Kontr ut Res Poéang
522 544 3NDN+1 4Q 650 106.0 0.0(460 432 54DO-4 vA 1100 106.0 0.0(523 545 3NS+2 ¢J 460 1050 1.0
428 438 3NN+1 «Q 430 73.0 33.0 (450 422 4y N= A 620 1020 4.0|544 524 3NS+2 vJ 460 1050 1.0
429 437 3NS+1 3 430 73.0 33.0(622 644 4v N= A 620 102.0 4.0(558 549 3NS+1 46 430 1020 4.0
434 457 3NN+1 2 430 73.0 33.0(630 632 4y N= A 620 102.0 4.0|431 437 3NS= 42 400 97.0 9.0
443 427 3NS+1 42 430 73.0 33.0(634 628 64DV-2 vK 500 98.0 8.0(444 428 3NS= 42 400 97.0 9.0
445 425 3NS+1 v9 430 73.0 33.0 (446 426 54 V-2 vK 200 95.0 11.0 (630 632 3NS= 42 400 97.0 9.0
454 451 3NN+1 #J 430 73.0 33.0(527 537 54DV-1 vK 200 95.0 11.0 (657 648 3NS= 46 400 97.0 9.0
455 450 3NN+1 46 430 73.0 33.0(424 448 54 O-1 vK 100 87.0 19.0(622 644 INS+3 3 180 92.0 14.0
524 538 3NN+1 4Q 430 73.0 33.0 (425 447 54 V-1 vK 100 87.0 19.0|427 445 34 ©0-3 #A 150 88.0 18.0
525 537 3NN+1 «Q 430 73.0 33.0 (624 638 54 V-1 vK 100 87.0 19.0 (446 426 INS+2 vJ 150 88.0 18.0
526 536 BNN+1 «Q 430 73.0 33.0(626 636 54 O-1 vA 100 87.0 19.0 (460 432 34 V-3 ¢J 150 88.0 18.0
527 535 3NN+1 4Q 430 73.0 33.0 (645 621 54 V-1 vK 100 87.0 19.0 (423 449 3+ S+1 vJ 130 740 32.0
530 532 3NN+1 49 430 73.0 33.0 (658 647 54 V-1 vK 100 87.0 19.0 (424 448 3#S+1 vJ 130 740 32.0
533 529 3NN+1 «Q 430 73.0 33.0(523 545 4vy N-1 #A -100 79.0 27.0|429 443 4#S-= +2 130 740 32.0
543 523 3NN+1 2 430 73.0 33.0(559 548 5v N-1 a4A -100 79.0 27.0(454 453 2#S+2 vJ 130 740 320
545 521 3NN+1 «Q 430 73.0 33.0(550 557 5v¥ N-2 ~#A -200 74.0 32.0|534 530 4% S-= v2 130 740 32.0
549 556 3NN+1 «Q 430 73.0 33.0(556 551 4vy N-2 ~#A -200 740 32.0|546 522 2#S+2 vJ 130 740 32.0
553 552 3NN+1 4Q 430 73.0 33.0(649 656 5v N-2 ~#A -200 740 32.0(559 548 44 S= 46 130 740 320
554 551 3NN+1 4Q 430 73.0 33.0(444 428 34 O+3 #3 -230 70.0 36.0|624 638 3#S+1 46 130 740 32.0
557 548 3NN+1 «Q 430 73.0 33.0(423 449 5vDN-2 44 -500 65.0 41.0|626 636 3#S+1 vJ 130 740 32.0
558 547 3NN+1 «Q 430 73.0 33.0(430 438 5vDN-2 v2 -500 650 41.0(649 656 4% S= vJ 130 740 320
559 546 3NN+1 «J 430 73.0 33.0(560 532 5vDN-2 4A -500 65.0 41.0|654 651 4% S-= vJ 130 74.0 32.0
560 531 3NN+1 «Q 430 73.0 33.0(659 646 6vDN-2 4A -500 650 41.0|434 458 INS+1 vJ 120 62.0 44.0
621 647 3NS+1 4 430 73.0 33.0 (429 443 44 O = vA -620 540 520(433 459 2#S+1 vJ 110 52.0 54.0
623 645 3NN+1 3 430 73.0 33.0 (525 543 44 V= vK  -620 54.0 52.0(455 452 34 S= v6 110 52.0 54.0
628 636 3NS+1 v9 430 73.0 33.0 (534 530 44 V= vK -620 540 52.0(526 538 3#S= vJ 110 52.0 54.0
631 633 3NN+1 4Q 430 73.0 33.0 (535 529 44 V= vK -620 54.0 52.0|550 557 3¢ N= v2 110 52.0 54.0
634 630 BNN+1 «Q 430 73.0 33.0 (546 522 44 O= vK -620 54.0 52.0(625 637 3#S= vJ 110 52.0 54.0
644 624 3NS+1 42 430 73.0 33.0 (657 648 44 V= ¢7 -620 540 52.0(627 635 3#S= vJ 110 52.0 54.0
650 657 3NN+1 4J 430 73.0 33.0 (660 631 4a V= vK -620 540 520|643 623 3% S= vJ 110 52.0 54.0
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654 653 3NN +1 «Q 430 73.0 33.0|427 445 44 O+1 ¢2 -650 39.0 67.0 (645 621 2& S +1 v3 110 52.0 54.0
655 652 3N S +1 v9 430 73.0 33.0|431 437 54 O = vyA 650 39.0 67.0(659 646 3¢ N= v6 110 52.0 54.0
660 632 3NN +1 «Q 430 73.0 33.0(436 456 44 O+1 &3 -650 39.0 67.0|554 553 34 V-2 &5 100 40.0 66.0
424 446 3N S= v8 400 29.0 77.0|455 452 44 O+1 &7 -650 39.0 67.0 (634 628 34 V-2 vA 100 40.0 66.0
430 436 3N S= v8 400 29.0 77.0|558 549 44 O+1 vK -650 39.0 67.0(655 650 34 O -2 +K 100 40.0 66.0
432 459 3N N= «Q 400 29.0 77.0(625 637 44 V+1 &8 -650 39.0 67.0|421 451 34 V-1 &5 50 30.0 76.0
433 458 3N S= v7 400 29.0 77.0|643 623 54 V= vK -650 39.0 67.0|430 438 34 V-1 &6 50 30.0 76.0
449 421 3NN= «Q 400 29.0 77.0|653 652 44 O+1 &3 -650 39.0 67.0(528 536 3v O-1 +K 50 30.0 76.0
453 452 3NN = «Q 400 29.0 77.0|528 536 44 O+2 &3 -680 29.0 77.0(535 529 3v O-1 &A 50 30.0 76.0
460 431 3NN= «Q 400 29.0 77.0|531 533 44 O+2 o7 -680 29.0 77.0 (555 552 2v V-1 &5 50 30.0 76.0
534 528 3N S= v9 400 29.0 77.0|454 453 44DO= ¢K -790 23.0 83.0(658 647 3v O-1 SA 50 30.0 76.0
627 637 3NS= v9 400 29.0 77.0|521 547 44DV= vK -790 23.0 83.0|660 631 3v O-1 &A 50 30.0 76.0
635 629 3NN= «Q 400 29.0 77.0|526 538 44DV= vQ -790 23.0 83.0|425 447 3NS-1 vJ -50 13.0 93.0
646 622 5% N = vA 400 29.0 77.0|555 552 44DO= vK -790 23.0 83.0|435 457 3NS-1 v2 -50 13.0 93.0
656 651 3NN = «Q 400 29.0 77.0(421 451 54D O= +¢9 -850 14.0 92.0 (436 456 3N N -1 +8 -50 13.0 93.0
422 448 3% S +1 v9 130 14.0 92.0 (435 457 54DV = vK -850 14.0 92.0|450 422 4#S-1 vJ -50 13.0 93.0
423 447 3 N+1 «Q 130 14.0 92.0(544 524 54DO= vA -850 14.0 92.0 (525 543 4# S-1 vlJ -50 13.0 93.0
659 648 3 N+1 4Q 130 14.0 92.0|554 553 54D O = &3 -850 14.0 92.0(531 533 3N S-1 vJ -50 13.0 93.0
555 550 2N O -1 &A 100 10.0 96.0 (627 635 54D O = &3 -850 14.0 92.0|556 551 4¢ N-1 v2 -50 13.0 93.0
426 444 5# N -1 «Q -50 7.0 99.0 (433 459 44D O +1 #3 -990 4.0 102.0 |560 532 3NS-1 vlJ -50 13.0 93.0
625 643 5& N -1 4 Q -50 7.0 99.0 [434 458 44D O +1 &2 -990 4.0 102.0 |633 629 44 S-1 vJ -50 13.0 93.0
626 638 6% S -2 v9 -100 3.0 103.0 |633 629 44DV +1 7 -990 4.0 102.0 1653 652 3N S-1 vJ -50 13.0 93.0
658 649 5& N -2 «Q -100 3.0 103.0 (654 651 44D O+1 ¢4 -990 4.0 102.0 |521 547 2v O = +K -110 2.0 104.0
435 456 3NN -3 «Q -150 0.0 106.0 (655 650 44D O +1 &3 -990 4.0 102.0 [527 537 3v O = &A  -140 0.0 106.0
25 & EKKn82 Basta kontrakt 26 432 Basta kontrakt 27 4 EDKn3 Basta kontrakt
Nord v 65 14 N =80 Ost v EDKn864 2NT O =-120 Syd v D105 64 N =980
ov 4753 Alla *+ K Ingen + K65
964 & ¢ v & NT #9863 & ¢ v & NT &EK9 & ¢ v & NT
4743 « D105 N5 7 6 76 a4 & DKn97 N4 47 8 4 410875 «4 N 7 7 111211
vDKn73 v982 S576 76 vK3 v 9752 S 44784 v83 v Kn64 S 7 6 11119
+ D86 ¢ KKn10 O6 6 7 6 6 + ED103 ¢ 8752 088548 + DKn94 ¢ E832 O6 6 212
&KD5 &#EKNn102 V66 76 6 #ED10742 &K V88537 #D103 #Kn8742 V66212
496 « EK10865 & K962
v EK104 v10 v EK972
¢ E942 + Kn964 + 107
#873 #Kn5 #65
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
633 635 3N O -3 «9 300 106.0 0.0 (447 427 3DV -3 43 800 105.0 1.0(533 535 6NN= ¢A 990 105.0 1.0
425 449 3N O -2 ¢2 200 101.0 5.0|629 643 3¢DV-3 43 800 105.0 1.0(628 638 6NN = ¢A 990 105.0 1.0
430 444 2N O -2 49 200 101.0 5.0(660 634 34aDS= vK 730 102.0 4.0 (433 443 64 N= ¢A 980 100.0 6.0
447 427 2vDV-1 &A 200 101.0 5.0(430 444 5¢ O-5 «K 500 100.0 6.0|537 531 64 N= +A 980 100.0 6.0
559 550 3% O -2 vA 200 101.0 5.0|434 459 44V -4 43 400 98.0 8.0|622 648 64 N= ¢+A 980 100.0 6.0
426 448 1IN S +1 v3 120 93.0 13.0|426 448 3& V-3 «3 300 89.0 17.0|536 532 3N N +3 &4 490 96.0 10.0
432 438 INS+1 v7 120 93.0 13.0|455 454 4&V -3 «3 300 89.0 17.0|421 455 44 N +2 v4 480 85.0 21.0
555 554 INS+1 v3 120 93.0 13.0 460 433 3& V-3 «3 300 89.0 17.0 (452 424 44 S +2 &3 480 85.0 21.0
629 643 INS+1 v7 120 93.0 13.0|526 544 3& V-3 «3 300 89.0 17.0(521 551 44 N+2 &J 480 85.0 21.0
522 548 24 N= v9 110 87.0 19.0|559 550 3& V-3 «3 300 89.0 17.0|522 550 44 S +2 &9 480 85.0 21.0
556 553 24 N = v2 110 87.0 19.0|560 533 3& V-3 43 300 89.0 17.0 (525 547 44 N +2 v2 480 85.0 21.0
437 456 INO-1 49 100 82.0 24.0|627 645 3& V-3 vA 300 89.0 17.0|530 538 4« N +2 ¢A 480 85.0 21.0
636 632 1INV -1 8 100 82.0 24.0|628 644 3&V -3 «3 300 89.0 17.0(632 634 44 N+2 &2 480 85.0 21.0
648 624 2v V-1 «K 100 82.0 24.0 (437 456 3# V-2 4 200 76.0 30.0 (645 625 44 S +2 +9 480 85.0 21.0
532 534 INS= LY 90 78.0 28.01521 549 3& V-2 43 200 76.0 30.0|657 652 4v N +2 v3 480 85.0 21.0
622 650 14 S= &K 80 75.0 31.0|532 534 44V -2 «3 200 76.0 30.0 (659 650 44 N+2 &8 480 85.0 21.0
627 645 1la N= *J 80 75.0 31.0|557 552 3#V-2 43 200 76.0 30.0 (431 445 3NN +2 &2 460 73.0 33.0
455 454 Pass 64.0 42.0|633 635 5¢ O-2 «K 200 76.0 30.0|647 623 3N N +2 &6 460 73.0 33.0
535 531 Pass 64.0 42.0|522 548 34 S+1 4 170 67.0 39.0|423 453 44 S+1 +Q 450 48.0 58.0
536 530 Pass 64.0 42.0 (527 543 34 S+1 &4 170 67.0 39.0 (425 451 4y S+1 v8 450 48.0 58.0
545 525 Pass 64.0 42.0|621 651 34 S+1 v3 170 67.0 39.0|427 449 4v S+1 +Q 450 48.0 58.0
547 523 Pass 64.0 42.01622 650 3y N+1 &K 170 67.0 39.0|429 447 4v S+1 +Q 450 48.0 58.0
557 552 Pass 64.0 42.0 (436 457 34 S= vK 140 61.0 45.0 (432 444 44 N+1 v4 450 48.0 58.0
625 647 Pass 64.0 42.0|636 632 34 S= &4 140 61.0 45.0 (435 459 4y N+1 42 450 48.0 58.0
646 626 Pass 64.0 42.0|535 531 3& V-1 «3 100 54.0 52.0 (437 457 4y N+1 49 450 48.0 58.0
656 655 Pass 64.0 42.0|536 530 3# V-1 43 100 54.0 52.0|438 456 44 N+1 2 450 48.0 58.0
421 453 2¢ S-1 &K -50 40.0 66.0 555 554 3¢ V-1 &6 100 54.0 52.0|446 430 44 S+1 +J 450 48.0 58.0
428 446 24 N-1 v8 -50 40.0 66.0 (646 626 3% V-1 +K 100 54.0 52.0|460 434 4v S+1 +Q 450 48.0 58.0
431 443 24 N-1 v8 -50 40.0 66.0 (648 624 34 V-1 43 100 54.0 52.0 (529 543 4v S+1 v2 450 48.0 58.0
436 457 24 S-1 a3 -50 40.0 66.0 (524 546 34 S-1 &#A -100 45.0 61.0|546 526 4v N+1 #4 450 48.0 58.0
451 423 24 S-1 a3 -50 40.0 66.0 (623 649 34 S-1 vyK -100 45.0 61.0(552 559 4v N+1 &4 450 48.0 58.0
460 433 24 N-1 v2 -50 40.0 66.0 (625 647 34 S-1 &#A -100 45.0 61.0(556 555 4v S+1 v8 450 48.0 58.0
524 546 24 N-1 v8 -50 40.0 66.0 (656 655 34 S-1 &#A -100 45.0 61.0(557 554 44 S+1 v8 450 48.0 58.0
529 537 24 N-1 v5 -50 40.0 66.0 (421 453 3% V= &3 -110 36.0 70.0 (558 553 4 S +1 +Q 450 48.0 58.0
560 533 24 N-1 v2 -50 40.0 66.0 (422 452 34 V= a3 -110 36.0 70.0 (560 534 4v S +1 +Q 450 48.0 58.0
621 651 24 N-1 v2 -50 40.0 66.0 (451 423 3% V= a3 -110 36.0 70.0 (621 649 4v S+1 v2 450 48.0 58.0
623 649 3¢ N-1 v8 -50 40.0 66.0 (551 558 3¢ V= a3 -110 36.0 70.0|624 646 4vy N+1 a4 450 48.0 58.0
628 644 24 S-1 vQ -50 40.0 66.0 (657 654 3# V= a2 -110 36.0 70.0|626 644 44 S+1 +Q 450 48.0 58.0
630 638 24 S-1 a2 -50 40.0 66.0 (435 458 34 S-2 &2 200 22.0 84.0 (627 643 44 S+1 +Q 450 48.0 58.0
631 637 24 N-1 a3 -50 40.0 66.0 (445 429 34 S-2 &A -200 22.0 84.0(635 631 44 S+1 +Q 450 48.0 58.0
657 654 24 N-1 v9 -50 40.0 66.0 (529 537 3v N-2 &K -200 22.0 84.0(651 658 4v S+1 &7 450 48.0 58.0
652 659 INO= 46 90 24.0 82.0(545 525 34 S-2 &#A -200 22.0 84.0|426 450 3NN +1 &4 430 23.0 83.0
435 458 34 N -2 v2 -100  20.0 86.0 547 523 34 S-2 LY -200 22.0 84.0(629 637 3NN +1 &2 430 23.0 83.0
521 549 24 N -2 v2 -100 20.0 86.0|556 553 34 S-2 &#A  -200 22.0 84.0(422 454 44 N= &7 420 18.0 88.0
526 544 24 N -2 v2 -100  20.0 86.0630 638 34 S-2 &#A  -200 22.0 84.0|436 458 44 S= +Q 420 18.0 88.0
422 452 1INV +1 vA -120 10.0 96.0 (631 637 34 N-2 &A -200 22.0 84.0|527 545 44 N= a4 420 18.0 88.0
424 450 INO+1 vA -120 10.0 96.0 (658 653 34 S-2 &#A -200 22.0 84.0|448 428 54 S-1 v8 -50 8.0 98.0
445 429 INO+1 vA -120 10.0 96.0 (424 450 34 N-3 &A  -300 8.0 98.0 (523 549 6NN -1 &2 -50 8.0 98.0
528 538 INO+1 vA -120 10.0 96.0|431 443 34 S-3 &A  -300 8.0 98.0 (528 544 6v S-1 +Q -50 8.0 98.0
551 558 INO+1 ¢2 -120  10.0 96.0 (432 438 34 S-3 ¢A -300 8.0 98.0 (548 524 44 N-1 v3 -50 8.0 98.0
658 653 INO+1 ¢2 -120  10.0 96.0 (528 538 3v N -3 &K  -300 8.0 98.0(636 630 64 S-1 +Q -50 8.0 98.0
660 634 INO+1 &9 -120  10.0 96.0 652 659 34 N -3 &K  -300 8.0 98.0 (655 654 64 N -1 &2 -50 8.0 98.0
527 543 2¢yDS-2 43 -300 2.0 104.0 1425 449 44DS-3 #A -800 1.0 105.0 |660 633 6v S-1 +Q -50 8.0 98.0

Svenska Bridgeforbundet, Silver 4 2022-08-01, sida 8 av 12




434 459 INDV+1 «A -380 0.0 106.0 |428 446 44DS-3 #A -800 1.0 105.0 {656 653 64 N -2 ¢A -100 0.0 106.0
28 442 Basta kontrakt 29 » E862 Basta kontrakt 30 442 Basta kontrakt
Vast v EKKn1054 5# V D -3 500 Nord v 64 24 S =110 Ost v EDKn10 ANT S =430
NS + D108 Alla ¢ K854 Ingen ¢ KKn2
#Kn5 & ¢ v & NT %932 & ¢ v & NT 210632 & ¢ v & NT
4« Kn1053 497 N588 86 41073 & Kn54 N6 6877 D865 4E97 N 109 109 10
v- vD9876 S 5 109 108 vKD75 ¢3 S76887 v762 v983 S 109 109 10
+ K4 ¢ Kn765 08 3434 ¢E72 ¢ DKn963 O6 7 456 41096 87543 034333
#ED109873 #64 V834314 #D84  #E765 V67456 #K85 #DKn V 34333
» EKD86 » KD9 # KKn103
v32 v EKn10982 v K54
+ E932 + 10 +ED
*K2 #KKn10 *E974
Par Kontr Ut Res Poéang Par Kontr Ut Res Poéang Par Kontr Ut Res Poéang
438 456 3NS+1 #J 630 106.0 0.0|426 452 2¢vDS= 3 670 105.0 1.0|433 445 3N S +2 T 460 1040 2.0
655 654 3N S = «J 600 104.0 2.0(453 425 2¢vDS= ¢2 670 105.0 1.0(553 521 3NN+2 ¢T 460 104.0 2.0
533 535 5#4DV-3 vA 500 99.0 7.0|559 554 4v S= 4 620 102.0 4.0(648 628 3NN+2 ¢2 460 104.0 2.0
536 532 54DV-3 vA 500 99.0 7.0(624 652 2¢DO-1 T 200 100.0 6.0(424 454 4v N+1 #Q 450 100.0 6.0
537 531 44#DV-3 vA 500 99.0 7.0|430 448 2v S+2 47 170 97.0 9.0|422 421 3NS+1 ¢T 430 71.0 35.0
628 638 44DV-3 vA 500 99.0 7.0|443 456 2v S+2 &4 170 97.0 9.0|423 455 3N S +1 ¢T 430 71.0 35.0
460 434 54DV -2 vA 300 91.0 15.0|427 451 2v S+1 47 140 72.0 34.0|426 452 3NN+1 ¢8 430 71.0 35.0
560 534 44DV-2 vA 300 91.0 15.0|436 459 2v S+1 43 140 72.0 34.0|427 451 3NS+1 ¢9 430 71.0 35.0
624 646 54DV-2 vA 300 91.0 15.0|437 458 2v S+1 &4 140 72.0 34.0(430 448 3NS+1 45 430 71.0 35.0
627 643 54DV -2 vK 300 91.0 15.0|438 457 2v S+1 &4 140 72.0 34.0 (432 446 3NS+1 ¢T 430 71.0 35.0
421 455 34 S= A 140 86.0 20.0|447 431 1v S+2 4T 140 72.0 34.0|434 444 3N S +1 v6 430 71.0 35.0
422 454 5&V - vA 100 84.0 22.0|449 429 2v S+1 ¢A 140 72.0 34.0|436 459 3N S +1 ¢T 430 71.0 35.0
431 445 3N S-1 #A -100 78.0 28.0(460 435 2v S+1 47 140 72.0 34.0(443 456 3NS+1 46 430 71.0 35.0
452 424 3N S-1 #A -100 78.0 28.0(|522 552 2v S+1 &6 140 72.0 34.0|447 431 3NS+1 ¢T 430 71.0 35.0
548 524 44 S-1 #A -100 78.0 28.0|526 548 2y S+1 &4 140 72.0 34.0|449 429 3N S +1 ¢T 430 71.0 35.0
558 553 3N S-1 a5 -100 78.0 28.0 (530 544 2v S+1 #4 140 72.0 34.0 (453 425 3N S +1 T 430 71.0 35.0
651 658 4v N-1 *6 -100 78.0 28.0(534 536 2v S+1 43 140 72.0 34.0|460 435 3N S +1 ¢T 430 71.0 35.0
423 453 4y N -2 *6 -200  52.0 54.0(553 521 2v S+1 ¢A 140 72.0 34.0|523 551 3NN+1 ¢8 430 71.0 35.0
425 451 4y N -2 &6 -200 52.0 54.0|557 556 2y S+1 #4 140 72.0 34.0(529 545 3N S +1 ¢T 430 71.0 35.0
432 444 AvyDN-1 &6 -200  52.0 54.0 (560 535 3v S= «3 140 72.0 34.0|530 544 3NS+1 ¢T 430 71.0 35.0
435 459 4y N -2 &2 -200  52.0 54.0(621 655 2v S+1 #4 140 72.0 34.0|531 543 3N S +1 ¢T 430 71.0 35.0
437 457 4y N -2 LY -200  52.0 54.0(623 653 2y S+1 #4 140 72.0 34.0|534 536 3NN+1 ¢8 430 71.0 35.0
446 430 4y N-2 *6 -200  52.0 54.0 (629 647 3v S= ¢A 140 72.0 34.0|537 533 3NS+1 ¢T 430 71.0 35.0
521 551 4v N-2 &3 -200 52.0 54.0(631 645 2v N+1 43 140 72.0 34.0(538 532 3NS+1 45 430 71.0 35.0
522 550 4v¥ N-2 &6 -200 52.0 54.0|635 637 3y S= T 140 72.0 34.0|547 527 3N S +1 ¢T 430 71.0 35.0
525 547 4v N -2 &6 -200 52.0 54.0(638 634 2v S+1 43 140 72.0 34.0|549 525 3N S +1 ¢6 430 71.0 35.0
529 543 6N S -2 45 -200  52.0 54.0 (658 657 2v S+1 #4 140 72.0 34.0|558 555 3N S +1 ¢T 430 71.0 35.0
546 526 4v N -2 &5 -200 52.0 54.0|659 656 2v S+1 v5 140 72.0 34.0|559 554 3NS+1 &5 430 71.0 35.0
557 554 4v N -2 *6 -200 52.0 54.0(660 636 2v S+1 43 140 72.0 34.0|560 535 3NN+1 ¢3 430 71.0 35.0
621 649 4v N -2 &2 -200  52.0 54.0 (423 455 2v S= «7 110 40.0 66.0 (623 653 3NS+1 46 430 71.0 35.0
622 648 4v N -2 &5 -200 52.0 54.0 (424 454 2v S= 3 110 40.0 66.0 (624 652 3N S +1 ¢T 430 71.0 35.0
626 644 4v N -2 &5 -200  52.0 54.0 (432 446 2v S= ¢+A 110 40.0 66.0 (629 647 3N S +1 ¢T 430 71.0 35.0
632 634 44 S-2 45 -200  52.0 54.0 (523 551 2v S= 6 110 40.0 66.0 (638 634 44 N = *Q 420 42.0 64.0
636 630 54 S -2 #A -200 52.0 54.0(528 546 1y S+1 47 110 40.0 66.0(428 450 3N S = T 400 24.0 82.0
645 625 5v N -2 +6 -200  52.0 54.0 (627 649 2v S= «7 110 40.0 66.0 (437 458 3N S = ¢T 400 24.0 82.0
647 623 3v N -2 *6 -200  52.0 54.0 (630 646 2v S= 4 110 40.0 66.0 (438 457 3N N= ¢7 400 24.0 82.0
659 650 3N S -2 &T -200 52.0 54.0(650 626 2v S= &4 110 40.0 66.0|522 552 3N S = T 400 24.0 82.0
660 633 44DS-1 #A -200 520 54.0|654 622 2v S= &4 110 40.0 66.0 (524 550 3N S = +9 400 24.0 82.0
433 443 5N S -3 #A -300 25.0 81.0(625 651 2¢ O-1 «K 100 30.0 76.0 (526 548 3N S = ¢T 400 24.0 82.0
436 458 4v N -3 &6 -300 25.0 81.0(422 421 2#S-1 43 -100 17.0 89.0(528 546 3N S = +9 400 24.0 820
523 549 4v N -3 &9 -300 25.0 81.0(428 450 2v S-1 ¢A -100 17.0 89.0|557 556 3N S = ¢T 400 24.0 82.0
527 545 3N S -3 #A -300 25.0 81.0(529 545 4v S-1 43 -100  17.0 89.0 (621 655 3N S = ¢T 400 24.0 82.0
552 559 4v N -3 *6 -300 25.0 81.0(531 543 3v S-1 3 -100 17.0 89.0|631 645 3N N= +3 400 24.0 820
556 555 4v N -3 *6 -300 25.0 81.0(537 533 3v S-1 &4 -100  17.0 89.0 (632 644 3N S = ¢T 400 24.0 82.0
656 653 3N S -4 #A -400 18.0 88.0(538 532 4v S-1 ¢A -100 17.0 89.0|635 637 3NS= ¢T 400 24.0 82.0
426 450 4vyDN-2 &6 -500 14.0 92.0|547 527 4v S-1 43 -100 17.0 89.0|643 633 3N S= T 400 240 82.0
427 449 4vyDN-2 &6 -500 14.0 92.0 (549 525 4v S-1 3 -100  17.0 89.0 (654 622 3N S = ¢T 400 24.0 82.0
429 447 3NDS-2 &9 -500 14.0 92.0 (558 555 2# S-1 ¢A -100 17.0 89.0|658 657 3N S= +9 400 24.0 82.0
448 428 3NDS-3 ¢K -800 6.0 100.0 |632 644 3v S-1 ¢A -100 17.0 89.0|659 656 3N S= ¢T 400 240 82.0
530 538 4vyDN-3 %6 -800 6.0 100.0 {643 633 2v S-1 &4 -100  17.0 89.0 (660 636 3N S = ¢T 400 24.0 82.0
629 637 4vyDN-3 #9 -800 6.0 100.0 |648 628 3v S-1 &4 -100  17.0 89.0 (625 651 1N S +3 ¢T 180 6.0 100.0
635 631 4vDN-3 %6 -800 6.0 100.0 433 445 34DN-1 3 -200 3.0 103.0 {630 646 3NN -1 2 -50 3.0 103.0
657 652 4vyDN-3 #5 -800 6.0 100.0 |524 550 4v S-2 &8 -200 3.0 103.0 {650 626 3N S -1 *T -50 3.0 103.0
528 544 5vDN-4 #6 -1100 0.0 106.0 |434 444 3NN -3 45 -300 0.0 106.0 |627 649 3N S -2 ¢T -100 0.0 106.0
31 &« D875 Bésta kontrakt 32 & DKn97 Bésta kontrakt 33 & KKn7 Bésta kontrakt
Syd v73 34 S =140 Vast v 94 44 N =420 Nord v KKn3 3NTV =-400
NS + EKn4 ov 410432 Ingen + Kn62
#10974 & ¢ v & NT #763 & ¢ v & NT #KKn94 & ¢ v & NT
#1043 » EK6 N9 87 97 454 106 N5 4 7 105 « D2 « E96 N6 4474
vKn1096 vKD52 S98797 v EK10 v DKn7 S5 4 7 105 vE1094 ¢762 S6 4474
+ K98 4653 0456 46 ¢ EDKn65 ¢ K987 0896 37 ¢ K1074 ¢ ED53 06 9 958
#653 #KD8 V45646 K109 #8542 V896 37 D103 #E72 V79969
& Kn92 & EK832 4108543
vE84 v 86532 v D85
+D1072 .- 498
#EKn2 #EDKn #865
Par Kontr ut Res Poéang Par Kontr ut Res Poéang Par Kontr ut Res Poéang
525 551 INDO-2 «J 300 105.0 1.0|435 445 34DS+2 &2 730 106.0 0.0 (543 535 24 N= v2 110 106.0 0.0
538 534 INDO-2 42 300 105.0 1.0(431 449 44DS+1 42 690 103.0 3.0 (444 457 3NO-2 8 100 100.0 6.0
424 421 28V -4 v7 200 100.0 6.0 (437 459 44DN+1 ¢5 690 103.0 3.0(449 433 3NO-2 «3 100 100.0 6.0
529 547 4v V-4 a7 200 100.0 6.0(532 544 24DN+2 48 670 100.0 6.0 (521 557 2v V-2 ¢2 100 100.0 6.0
624 650 2¢ O -4 42 200 100.0 6.0 (424 421 34DS+1 vA 630 98.0 8.0|524 554 3N O -2 «3 100 100.0 6.0
427 453 3v V-3 v3 150 93.0 13.0|427 453 44DS= 45 590 93.0 13.0|622 658 3v V-2 «4 100 100.0 6.0
429 451 3v V-3 a7 150 93.0 13.0|538 534 44DS= 45 590 93.0 13.0|434 448 14 N+1 v2 90 94.0 12.0
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543 533 3v V-3 v7 150 93.0 13.0(623 651 44DN= 46 590 93.0 13.0|429 453 3NO-1 a2 50 85.0 21.0
631 643 3v O-3 v3 150 93.0 13.0(637 633 44DS= vA 590 93.0 13.0 (432 450 3NO-1 «5 50 85.0 21.0
653 621 24 N+1 &K 140 88.0 18.0(425 455 5¢D0O-2 &A 500 88.0 18.0|560 537 3N O-1 a2 50 85.0 21.0
523 553 24 N= vK 110 85.0 21.0|434 446 44 N+1 ¢2 450 85.0 21.0(621 659 4v V-1 2 50 85.0 21.0
550 526 24 N= vK 110 85.0 21.0(634 636 44 S+1 45 450 85.0 21.0 (630 650 3¢ O-1 a2 50 85.0 21.0
433 447 3v V-2 47 100 70.0 36.0 (429 451 44 N= ¢7 420 76.0 30.0(632 648 INO-1 a4 50 85.0 21.0
434 446 INDO-1 42 100 70.0 36.0 (438 458 44 S= vA 420 76.0 30.0 (633 647 3NV-1 4K 50 85.0 21.0
438 458 3v V-2 v7 100 70.0 36.0|450 430 44 S= vK 420 76.0 30.0 (652 628 2v V-1 2 50 85.0 21.0
443 457 2v V-2 v7 100 70.0 36.0 (530 546 44 S= ¢A 420 76.0 30.0 (424 423 24 S-1 46 -50 710 35.0
454 426 2v V-2 47 100 70.0 36.0 (531 545 44 N= vQ 420 76.0 30.0 |445 456 24 N-1 v2 -50 710 35.0
527 549 3v V-2 ¢+A 100 70.0 36.0 (628 646 44 N= +8 420 76.0 30.0 |455 427 24 N-1 46 -50 710 35.0
535 537 3v V-2 47 100 70.0 36.0 631 643 44 N= ¢K 420 76.0 30.0 627 653 24 S-1 3 -50 710 35.0
559 556 2v V-2 T 100 70.0 36.0 428 452 34 S+2 43 200 56.0 50.0 631 649 24 N-1 2 -50 710 35.0
634 636 3v V-2 «7 100 70.0 36.0 (433 447 34 N+2 43 200 56.0 50.0|660 638 14 N -1 v7 -50 710 35.0
647 627 3v V-2 ¢A 100 70.0 36.0 460 436 44DV -1 v9 200 56.0 50.0(645 635 1v V= 2 -80 64.0 42.0
649 625 3v V-2 ¢A 100 70.0 36.0(525 551 4¢DO-1 4A 200 56.0 50.0(530 548 INO= 43 90 61.0 45.0
657 656 3v V-2 ¢+A 100 70.0 36.0(529 547 34 S+2 ¢A 200 56.0 50.0(544 534 INO= 43 90 61.0 45.0
658 655 3v V-2 ¢A 100 70.0 36.0|558 557 24 S+3 &9 200 56.0 50.0 (425 422 24 S-2 vA -100 55.0 51.0
423 422 INS= vJ 90 50.0 56.0|559 556 34 N+2 ¢8 200 56.0 50.0 (430 452 2v S-2 4Q -100 55.0 510
425 455 INS= vlJ 90 50.0 56.0(624 650 24 S+3 vA 200 56.0 50.0|532 546 24 N-2 v6 -100 55.0 51.0
531 545 INS= vJ 90 50.0 56.0(626 648 34 S+2 vA 200 56.0 50.0|551 527 1NN -2 ¢3 -100 550 51.0
548 528 INS= vJ 90 50.0 56.0 (629 645 24 S+3 vA 200 56.0 50.0(525 553 2¢ O+1 ¢8 -110 48.0 58.0
623 651 2¢ S= vlJ 90 50.0 56.0 (630 644 5¢ V-2 4Q 200 56.0 50.0(526 552 2v V= «9 -110 48.0 580
626 648 1IN S= vJ 90 50.0 56.0|638 632 5¢ V-2 49 200 56.0 50.0 {637 643 2v V= ¢2 -110 48.0 58.0
629 645 INS= vJ 90 50.0 56.0(659 654 34 N+2 ¢8 200 56.0 50.0(533 545 2NV = ¢2 -120 43.0 63.0
428 452 2v V-1 «T 50 25.0 81.0(423 422 24 N+2 ¢7 170 30.0 76.0(623 657 INO+1 43 -120 43.0 63.0
431 449 INO-1 2 50 25.0 81.0|443 457 34 N+1 46 170 30.0 76.0|428 454 2v V+1 47 -140 38.0 68.0
437 459 1INO -1 a2 50 25.0 81.0|444 456 24 S+2 vA 170 30.0 76.0|443 458 2v V+1 ¢6 -140 38.0 68.0
444 456 1IN O -1 2 50 25.0 81.0|454 426 34 S+1 vA 170 30.0 76.0|522 556 1v V+2 v9 -140 38.0 68.0
448 432 INO -1 a2 50 25.0 81.0|521 555 24 N+2 ¢2 170 30.0 76.0(426 421 INN-3 v2 -150 29.0 77.0
450 430 INO-1 49 50 25.0 81.0|524 552 24 N+2 &4 170 30.0 76.0(435 447 2NO+1 &2 -150 29.0 77.0
460 436 2v V-1 ¢A 50 25.0 81.0|527 549 24 S+2 44 170 30.0 76.0(528 550 1NN -3 v2 -150 29.0 77.0
524 552 INO-1 2 50 25.0 81.0|543 533 34 N+1 ¢8 170 30.0 76.0|536 538 1NN -3 v6 -150 29.0 77.0
530 546 2v V-1 a7 50 25.0 81.0|548 528 34 S+1 vA 170 30.0 76.0(626 654 14 N -3 v7 -150 29.0 77.0
532 544 3v V-1 ¢A 50 25.0 81.0|554 522 34 N+1 ¢5 170 30.0 76.0(656 624 2NO+1 &8 -150 29.0 77.0
554 522 INO-1 43 50 25.0 81.0(622 652 34 N+1 vQ 170 30.0 76.0(644 636 3v V+1 #4 -170 220 84.0
558 557 INO-1 2 50 25.0 81.0(649 625 24 N+2 ¢8 170 30.0 76.0(436 446 3NO = 8 -400 140 920
560 536 2v V-1 *7 50 25.0 81.0(657 656 34 N+1 ¢K 170 30.0 76.0(438 459 3NV = ¢2 -400 140 92.0
622 652 INO-1 2 50 25.0 81.0(448 432 4¢ V-1 «Q 100 14.0 92.0(451 431 3NO= 6 -400 140 920
628 646 1IN O -1 a2 50 25.0 81.0|560 536 4¢ O-1 A 100 14.0 92.0 (460 437 3NO= 44  -400 140 920
637 633 INO-1 v4 50 25.0 81.0 (647 627 4¢ V-1 4Q 100 14.0 92.0|555 523 3NO= 43 -400 140 920
638 632 2v V-1 T 50 25.0 81.0|550 526 34DS-1 vA -100 10.0 96.0(559 558 3N O = 5 400 140 920
659 654 2v V-1 T 50 25.0 81.0(660 635 3¢ V= 47  -110 8.0 98.0(634 646 3NV = ¢2 -400 140 92.0
630 644 INO = a2 -90 5.0 101.0 (658 655 INV+1 4Q -120 6.0 100.0 [531 547 4v V= 9  -420 6.0 100.0
660 635 1IN O = a2 -90 5.0 101.0 (523 553 3¢ O+1 «4A -130 3.0 103.0 (549 529 3NV +1 vK -430 2.0 104.0
435 445 INS-1 v2 -100 1.0 105.0 |535 537 4¢ V= 4Q -130 3.0 103.0 (625 655 3NV +1 &9  -430 2.0 104.0
521 555 INS-1 vJ -100 1.0 105.0 (653 621 2¢ S-4 vA  -200 0.0 106.0 (629 651 3NV +1 2  -430 2.0 104.0
34 & EKn654 Basta kontrakt 35 4104 Basta kontrakt 36 4 Kn76 Basta kontrakt
Ost v5 54 O D -3 500 Syd vKn763 4v V =-620 Vast v 92 5v V =-650
NS ¢ D42 oV ¢ EKn53 Alla + E10973
#EK43 & ¢ v & NT #Kn96 & ¢ v & NT #K102 & ¢ v & NT
a- 41097 N5 6 4 109 4 EKB852 473 N25243 D84 » EK93 N55 223
vD1076 v KKn98 S 55 4 109 v D98 v EK102 S25243 v D65 v EK1073 S55223
¢+ E10987 ¢ KKn 085814 ¢ 109 ¢ K87 O 118 109 9 +D4 ¢ Kn85 O 8 7 111010
#Kn985 410762 V85814 *E84 «D1072 V 118 109 9 #Kn9854 &E vV 8 7 111010
4« KD832 # DKn96 #1052
vE432 v54 v Kn84
4653 + D642 + K62
«D #K53 «D763
Par Kontr Ut Res Poéng Par Kontr Ut Res Poéng Par Kontr Ut Res Poéang
424 423 44 S+2 v7 680 81.0 25.0|430 454 3N O-3 ¢2 300 106.0 0.0|622 656 4v O-1 42 100 106.0 0.0
430 452 44 S+2 v7 680 81.0 25.0|426 423 3N O -2 ¢4 200 100.0 6.0|628 650 24 O+1 6 -140 1039 2.1
434 448 44 N+2 &7 680 81.0 25.0(531 549 3N O -2 ¢4 200 100.0 6.0|522 558 2v O+3 #6 -200 1009 5.1
438 459 44 S+2 #5 680 81.0 25.0|552 528 3N O -2 ¢2 200 1000 6.0(636 638 2v O+3 46 -200 1009 5.1
443 458 44 S+2 w7 680 81.0 25.0(636 638 3N O -2 46 200 100.0 6.0(427 422 4y O= v4 620 92.7 133
445 456 44 S+2 v7 680 81.0 25.0(643 635 3NV -2 ¢4 200 100.0 6.0|430 454 4v O= 42 -620 92.7 133
449 433 44 S+2  #8 680 81.0 25.0|436 448 3N O-1 ¢2 100 72.0 34.0|445 457 4v O = 6 -620 92.7 133
455 427 54 S+1  v7 680 81.0 25.0|443 459 3N O-1 ¢2 100 72.0 34.0|529 551 4v O = 6 -620 92.7 133
460 437 44 S+2 ¢A 680 81.0 25.0|445 457 4v O-1 ¢4 100 72.0 34.0|533 547 4v O = v4 620 92.7 133
522 556 44 S+2 ¢A 680 81.0 25.0|460 438 3N O-1 ¢2 100 72.0 34.0|659 658 4v O = 6 -620 92.7 133
524 554 44 S+2 %8 680 81.0 25.0(521 559 44 V-1 v6 100 72.0 34.0|421 428 4v O+1 4T -650 469 59.1
530 548 44 N+2 &2 680 81.0 25.0(522 558 3NV -1 ¢5 100 72.0 34.0(425 424 4y O+1 42 650 46.9 59.1
533 545 44 S+2 &4 680 81.0 25.0(523 557 3NO-1 ¢4 100 72.0 34.0(426 423 4v O+1 v4 -650 46.9 59.1
543 535 44 S+2 v7 680 81.0 25.0(525 555 3NV -1 +3 100 72.0 34.0(429 455 4v O+1 v4 -650 46.9 59.1
544 534 44 S+2 &5 680 81.0 25.0(526 554 3N O-1 ¢4 100 72.0 34.0|431 453 4v O+1 v8 -650 46.9 59.1
549 529 44 S+2 v7 680 81.0 25.0(527 553 3N O-1 ¢2 100 72.0 34.0|433 451 4v V+1 &3 -650 469 59.1
551 527 44 N+2 &6 680 81.0 25.0(534 546 3N O-1 ¢2 100 72.0 34.0|435 449 4v O+1 &2 -650 469 b59.1
559 558 44 S+2 &8 680 81.0 25.0(537 543 3NO-1 ¢4 100 72.0 34.0(436 448 4v O+1 42 -650 46.9 59.1
560 537 44 S+2 v7 680 81.0 25.0|544 536 3N O-1 ¢6 100 72.0 34.0|443 459 4v O+1 45 -650 469 59.1
621 659 44 N+2 &6 680 81.0 25.0|545 535 4y O-1 v5 100 72.0 34.0|446 456 4v O+1 &3 -650 469 b59.1
623 657 44 N+2 4T 680 81.0 25.0(550 530 3NO-1 ¢2 100 72.0 34.0(450 434 4y O+1 ¢K -650 46.9 59.1
627 653 44 S+2 v7 680 81.0 25.0(556 524 44 V-1 v6 100 72.0 34.0(452 432 4v O+1 ¢2 -650 46.9 59.1
629 651 44 S+2 vJ 680 81.0 25.0(622 656 3N O-1 ¢2 100 72.0 34.0(460 438 4v O+1 v4 -650 46.9 59.1
632 648 44 N+2 &6 680 81.0 25.0(624 654 3N O-1 ¢4 100 72.0 34.0(521 559 4y O+1 #3 -650 46.9 59.1
637 643 44 S+2 v7 680 81.0 25.0(628 650 44 V-1 6 100 72.0 34.0|523 557 4v O+1 ¢2 -650 469 59.1
660 638 44 S+2 &8 680 81.0 25.0(633 645 3NV -1 +3 100 72.0 34.0(525 555 4v O+1 ¥8 -650 46.9 59.1
425 422 44 S+1  ¢A 650 37.0 69.0(644 634 3NO-1 ¢2 100 72.0 34.0(526 554 4y O+1 42 -650 46.9 59.1
426 421 44 S+1 w7 650 37.0 69.0(649 629 3NO-1 ¢2 100 72.0 34.0|527 553 4v O+1 ¥4 -650 469 59.1
429 453 44 S+1  ¢A 650 37.0 69.0|651 627 3NV -1 +5 100 72.0 34.0(531 549 4vV+1l v9 -650 46.9 59.1
432 450 44 S+1  ¢A 650 37.0 69.0(529 551 2NV = v6 -120 470 59.0]|532 548 4v O+1 ¢2 -650 469 59.1
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451 431 44 S+1 &9 650 37.0 69.0|632 646 INO+1 ¢2 -120  47.0 59.0 (534 546 4v O+1 2 -650 46.9 59.1
521 557 44 S+1 v7 650 37.0 69.0|427 422 3v O= a5 -140 440 62.0 (537 543 44 O+1 42 -650 46.9 59.1
525 553 44 S +1 ¢+A 650 37.0 69.0433 451 2NV +1 v6 -150 41.0 65.0(544 536 4v O+1 v4 -650 46.9 59.1
531 547 44 N+1 &6 650 37.0 69.0|560 538 INO+2 +4 -150 41.0 65.0 (545 535 4y O+1 %6 -650 46.9 59.1
532 546 44 S+1 &9 650 37.0 69.0|421 428 3NV = v6 -600 25.0 81.0(550 530 4y O+1 2 -650 46.9 59.1
536 538 44 S +1 v6 650 37.0 69.0|425 424 3NV = v3 -600 25.0 81.0(552 528 4v O+1 &2 -650 46.9 59.1
555 523 44 S+1 &8 650 37.0 69.0|431 453 3NV= v3 -600 25.0 81.0(556 524 4v O+1 v4 -650 46.9 59.1
626 654 44 N+1 «T 650 37.0 69.0(435 449 3NV = +3 -600 25.0 81.0(560 538 4y O+1 &2 -650 46.9 59.1
630 650 44 N+1 &2 650 37.0 69.0 444 458 3N O = *2 -600 25.0 81.0(621 657 4v O+1 %6 -650 46.9 59.1
631 649 44 S+1 ¢+A 650 37.0 69.0 446 456 3N O = *2 -600 25.0 81.0(624 654 4v O+1 2 -650 46.9 59.1
633 647 54 S= ¢+A 650 37.0 69.0(450 434 3NO= v5 -600 25.0 81.0(625 653 4y O+1 45 -650 46.9 59.1
644 636 44 S +1 8 650 37.0 69.0|533 547 3NO = v5 -600 25.0 81.0(630 648 4v O+1 45 -650 46.9 59.1
645 635 44 N+1 «T 650 37.0 69.0621 657 3NO = «Q -600 250 81.0(631 647 4y O+1 43 -650 46.9 59.1
652 628 44 N+1 «T 650 37.0 69.0(625 653 3NO = v5 -600 25.0 81.0(632 646 4y O+1 ¢8 -650 46.9 59.1
435 447 44 N= +2 620 17.0 89.0(626 652 3NV = v6 -600 25.0 81.0(633 645 4v O+1 #3 -650 46.9 59.1
634 646 44 N= +K 620 17.0 89.0|631 647 3NO = v3 -600 25.0 81.0(643 635 4y O+1 %6 -650 46.9 59.1
528 550 24 N+3 &7 200 13.0 93.0|655 623 3N O = v5 -600 25.0 81.0(644 634 4y O+1 43 -650 46.9 59.1
625 655 34 N+2 &7 200 13.0 93.0 (660 637 3NV = +3 -600 25.0 81.0(649 629 4v O+1 T -650 46.9 59.1
436 446 64 S-1 ¢A -100 6.0 100.0 |659 658 4v V= &6 -620 10.0 96.0 655 623 4y O+1 +v4 -650 46.9 59.1
444 457 64 S-1 ¢A -100 6.0 100.0 (429 455 3NO+1 ¥5 -630 5.0 101.0 (437 447 3NV +2 v9 -660 4.1 101.9
526 552 64 S-1 ¢A -100 6.0 100.0 (452 432 3NV +1 v6 -630 5.0 101.0 {626 652 3NV +2 +3 -660 4.1 101.9
622 658 64 S-1 ¢A -100 6.0 100.0 (532 548 3NO+1 4Q -630 5.0 101.0 {651 627 3N O +2 42 -660 4.1 101.9
656 624 64 S-1 ¢A -100 6.0 100.0 (630 648 3INO+1 ¢2 -630 5.0 101.0 (660 637 4y O+2 &3 -680 0.0 106.0
428 454 4v S -6 ¢+A -600 0.0 106.0 (437 447 2¢DS-4 «A -800 0.0 106.0 (444 458 A+/A+ 63.6 63.6
37 4 Kn862 Basta kontrakt 38 4 K6 Basta kontrakt 39 ~E8 Basta kontrakt
Nord v 753 2¢ N =90 Ost v KKn5 2NT S =120 Syd v D8652 3NT V =-600
NS + EDKn65 ov + D972 Alla + 975
&Kn & ¢ v & NT D872 & ¢ v & NT K86 & ¢ v & NT
4KD1094 &5 N6 86 77 « D74 & Kn1032 N8 88 7 8 464 4KDKN103 N 6 55 3 4
v 96 vKDKn1082 S 6 8 6 7 7 v108432 997 S 8887 8 vKKn97 vE103 S55534
+9 ¢ K1073 O6 5656 + K6 ¢ Kn853 045565 +1062 ¢ KKn4 O77 8909
&#D10987 %42 V65605°%6 &E53 &#KKn9 V455675 10742 &ED V77899
4 E73 « E985 49752
vE4 v ED6 v4
¢ 842 ¢ E104 + ED83
#EK653 #1064 #Kn953
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
546 536 4vDO-4 &K 800 106.0 0.0|526 556 2¢vDV-3 &7 800 106.0 0.0 (554 530 5v O-5 &5 500 106.0 0.0
538 544 3N S = 4K 600 104.0 2.0|431 455 3NN +1 v9 430 104.0 2.0(633 649 3NO-2 +3 200 104.0 2.0
451 435 4vDO-3 #K 500 101.0 5.0(422 429 3NS= v2 400 98.0 8.0|452 436 3NO-1 &5 100 94.0 12.0
524 558 2¢DO-3 #A 500 101.0 5.0(434 452 3NN= 3 400 98.0 8.0|460 444 3NO-1 &3 100 94.0 12.0
532 550 4vDO-2 #A 300 95.0 11.0|446 457 3NN = «J 400 98.0 8.0|527 557 3NO-1 3 100 94.0 12.0
553 529 4vDO-2 #A 300 95.0 11.0|523 559 3N S= v2 400 98.0 8.0|528 556 3NO-1 &5 100 94.0 12.0
634 650 3vDO-2 #A 300 95.0 11.0|528 554 3NN = v9 400 98.0 8.0|529 555 3NO-1 +2 100 94.0 12.0
635 649 4vDO-2 &A 300 95.0 11.0|427 424 1NN +2 3 150 89.0 17.0|533 551 2N O-1 &5 100 94.0 12.0
432 454 3v V-3 &J 150 88.0 18.0|634 650 1N N +2 v9 150 89.0 17.0|543 545 3NO-1 +8 100 94.0 12.0
460 443 4v O-3 &A 150 88.0 18.0|636 648 1N N +2 v5 150 89.0 17.0|560 544 3NO-1 &5 100 94.0 12.0
624 621 24 V-3 &J 150 88.0 18.0 (643 645 1NN +2 7 150 89.0 17.0|626 656 3N O -1 &5 100 94.0 12.0
436 450 3vDO-1 #K 100 79.0 27.0|432 454 1NN +1 v9 120 77.0 29.0|536 548 2N O = +3 -120 84.0 22.0
522 521 3v O-2 &A 100 79.0 27.0|453 433 2NS= v5 120 77.0 29.0|438 450 14 O+2 5 -140 81.0 25.0
526 556 3vDV-1 &J 100 79.0 27.0|522 521 1NN +1 v9 120 77.0 29.0|645 637 14 O+2 v4 -140 81.0 25.0
530 552 3v V-2 «J 100 79.0 27.0|533 549 1NN +1 v9 120 77.0 29.0|437 451 2NO+1 42 -150 73.0 33.0
551 531 4v O -2 &A 100 79.0 27.0|535 547 2NN = v9 120 77.0 29.0|445 459 INO+2 49 -150 73.0 33.0
660 644 3v O -2 +8 100 79.0 27.0|624 621 1NN +1 v9 120 77.0 29.0(448 456 2N O +1 42 -150 73.0 33.0
427 424 3v O-1 &A 50 69.0 37.0|646 638 1NN +1 &9 120 77.0 29.0|623 659 2N O +1 45 -150 73.0 33.0
431 455 3v O-1 &K 50 69.0 37.0|647 637 1NN +1 «J 120 77.0 29.0|632 650 2NO+1 v4 -150 73.0 33.0
527 555 3v O-1 &A 50 69.0 37.0|436 450 1NN = a2 90 60.0 46.0(646 636 1INV +2 a5 -150 73.0 33.0
545 537 2v V-1 &J 50 69.0 37.0|438 448 1NN = v9 90 60.0 46.0|523 522 14 O+3 v4 -170  64.0 420
523 559 3¢ N-1 v3 -100 59.0 47.0(451 435 INS= v3 90 60.0 46.0|552 532 24 V +2 v2 -170 64.0 420
533 549 3¢ N-1 vyK -100 59.0 47.0(534 548 INS= v3 90 60.0 46.0|634 648 24 V +2 +3 -170 64.0 420
534 548 3¢ N-1 vyK -100 59.0 47.0(538 544 INS= v2 90 60.0 46.0|423 430 2N O +2 &7 -180 57.0 49.0
629 655 3¢ N-1 vyK -100 59.0 47.0(551 531 INS= v2 90 60.0 46.0|446 458 2NO +2 v4 -180 57.0 49.0
646 638 24 N-1 vyK -100 59.0 47.0(633 651 INN-= v9 90 60.0 46.0|627 655 INO+3 &7 -180 57.0 49.0
658 626 3¢ N-1 vyK -100 59.0 47.0(635 649 INS= v3 90 60.0 46.0|651 631 2N O+2 &5 -180 57.0 49.0
453 433 2v O = &#A -110 52.0 54.0|654 630 INN= v9 90 60.0 46.0|630 652 1NN -3 K -300 52.0 54.0
557 525 3v O = &#A -140 50.0 56.0(426 425 3NS-1 v3 -50 34.0 72.0(428 425 34D N-2 46 -500 50.0 56.0
422 429 3¢ N-2 vyK -200 38.0 68.0(428 423 3NS-1 v4 -50 34.0 72.0(429 424 3NV = v2 -600 30.0 76.0
434 452 3¢ N-2 &2 -200 38.0 68.0 (430 421 3NS-1 v2 -50 34.0 72.0|431 422 3NV = v2 -600 30.0 76.0
528 554 3¢DN-1 ¢K -200 38.0 68.0(444 459 3NS-1 v2 -50 34.0 72.0|432 421 3NO= +8 -600 30.0 76.0
535 547 3NS-2 4K -200 38.0 68.0(445 458 3NS-1 v4 -50 34.0 72.0|433 455 3NO= +8 -600 30.0 76.0
560 543 3NS-2 oK -200 38.0 68.0(447 456 3NN-1 a3 -50 34.0 72.0|435 453 3NO= &2 -600 30.0 76.0
627 657 3% S-2 4K -200 38.0 68.0(527 555 3NS-1 v2 -50 34.0 72.0|443 449 3NO= &5 -600 30.0 76.0
633 651 3NS-2 4K -200 38.0 68.0(532 550 3NN-1 a2 -50 34.0 72.0|454 434 3NO= +8 -600 30.0 76.0
636 648 24 N -2 vyK -200 38.0 68.0(545 537 3NN-1 +5 -50 34.0 72.0|524 521 3NO= &3 -600 30.0 76.0
643 645 4¢ N -2 vyK -200 38.0 68.0(553 529 3NS-1 &3 -50 34.0 72.0|525 559 3NO = a2 -600 30.0 76.0
647 637 3% S-2 v5 -200 38.0 68.0(557 525 3N N-1 a2 -50 34.0 72.0|531 553 3NO= a5 -600 30.0 76.0
654 630 3NS-2 «Q -200 38.0 68.0(623 622 3NN-1 a2 -50 34.0 72.0|534 550 3NO = a7 -600 30.0 76.0
426 425 34 N-3 vyK -300 20.0 86.0(625 659 3NN-1 43 -50 34.0 72.0|535 549 3NO= +3 -600 30.0 76.0
430 421 34 S-3 4K -300 20.0 86.0(629 655 3NS-1 v2 -50 34.0 72.0|546 538 3NO = &3 -600 30.0 76.0
444 459 3N S-3 v9 -300 20.0 86.0(631 653 3NS-1 v2 -50 34.0 72.0|547 537 3NO= &5 -600 30.0 76.0
445 458 5¢ N -3 vyK -300 20.0 86.0(652 632 2N S-1 v3 -50 34.0 72.0|622 621 3NO = &2 -600 30.0 76.0
446 457 3N S-3 «Q -300 20.0 86.0|660 644 3NN-1 v9 -50 34.0 72.0(624 658 3NO= +8 -600 30.0 76.0
447 456 3N S -3 v9 -300 20.0 86.0 (437 449 3NS-2 v2 -100 8.0 98.0(635 647 3NV = A -600 30.0 76.0
628 656 44 N -3 vyK -300 20.0 86.0(460 443 3N S-2 v3 -100 8.0 98.0(638 644 3NV = 49 -600 30.0 76.0
438 448 44 N-4 vyK -400 10.0 96.0 (524 558 3NN -2 v9 -100 8.0 98.0(657 625 3N O = a7 -600 30.0 76.0
625 659 34 S -4 oK -400 10.0 96.0|530 552 3NN-2 +9 -100 8.0 98.0 (427 426 3NO+1 &5 -630 6.0 100.0
631 653 5¢ N-4 v3 -400 10.0 96.0 (546 536 3N S-2 v2 -100 8.0 98.0 (447 457 3NV +1 +9 -630 6.0 100.0
437 449 44DN-3 vK -800 5.0 101.0 [560 543 3N S -2 v2 -100 8.0 98.0(558 526 3NO+1 +4 -630 6.0 100.0
652 632 3NDS-3 +¢9 -800 5.0 101.0 (627 657 3N S-2 v3 -100 8.0 98.0(653 629 3NV +1 v6 -630 6.0 100.0
428 423 44DN-4 vK -1100 1.0 105.0 1628 656 3N S -2 v3 -100 8.0 98.0|660 643 3NO+1 v4 -630 6.0 100.0
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623 622 44DN-4 vK

-800

0.0 106.0

40
Vast

Ingen

410

#9092

& KDKn942
v Kn85
+D5
74

& 753

v K764 v1032
¢ EK8763 ¢ Knl1042

Par

429
452
534
543
624
445
657
447
460
627
638
423
427
428
431
432
433
437
443
446
448
454
523
524
525
533
536
546
554
558
560
622
623
626
628
630
633
634
635
645
646
653
531
435
438
527
529
547
632
528
552
651
535
660

424
436
550
545
658
459
625
457
444
655
644
430
426
425
422
421
455
451
449
458
456
434
522
521
559
551
548
538
530
526
544
621
659
656
654
652
649
648
647
637
636
629
553
453
450
557
555
537
650
556
532
631
549
643

#KKn8
~ E86
vED9
+9
&ED10653
Kontr Ut
64 N = *J
64 N = v3
64 N= *J
64 N = *2
64 N= *4
5¢DV-4 &7
54 S +2 &9
5¢DV-3 &K
5¢DV-3 &K
5¢DV-3 «Q
5¢DV-3 &K
44 N+ *J
44 N +2 *4
44 N +2 +6
44 N +2 *J
46 N+2 &2
44 N +2 *J
44 N +2 +3
44 N +2 +5
44 N +2 *J
464 N+2 43
44 N +2 *J
44 N +2 a3
44 N +2 *J
44 N +2 *J
44 N +2 *4
44 N +2 *J
44 N +2 *J
4e S +2 K
464 N+2 43
44 N +2 *J
44 N +2 *J
44 N +2 *4
46 N+2 &7
44 N +2 a3
4e S +2 *A
44 N +2 *J
44 N +2 *J
44 N +2 *J
44 N +2 *J
44 N +2 *J
44 N +2 *J
3NN +2 *J
44 N +1 *2
44 N +1 *J
44 N +1 v2
44 N +1 v5
54 N= K
44 S +1 *A
44 N = *J
44 N = v2
44 N = *J
5¢DV-2 &K
4v V -5 &7

-1100 1.0 105.0 |658 626 3N N -2 s -100 8.0 98.0 (628 654 3#DN-3 &K
Basta kontrakt
64 N =980
& ¢ v & NT
N 115 7 127
S 115 8 127
027500
VO7500
Res Poang
980 102.0 4.0
980 102.0 4.0
980 102.0 4.0
980 102.0 4.0
980 102.0 4.0
800 96.0 10.0
510 94.0 12.0
500 89.0 17.0
500 89.0 17.0
500 89.0 17.0
500 89.0 17.0
480 54.0 52.0
480 54.0 52.0
480 54.0 52.0
480 54.0 52.0
480 54.0 52.0
480 54.0 52.0
480 54.0 52.0
480 54.0 52.0
480 54.0 52.0
480 54.0 52.0
480 54.0 52.0
480 54.0 52.0
480 54.0 52.0
480 54.0 52.0
480 54.0 52.0
480 54.0 52.0
480 54.0 52.0
480 54.0 52.0
480 54.0 52.0
480 54.0 52.0
480 54.0 52.0
480 54.0 52.0
480 54.0 52.0
480 54.0 52.0
480 54.0 52.0
480 54.0 52.0
480 54.0 52.0
480 54.0 52.0
480 54.0 52.0
480 54.0 52.0
480 54.0 52.0
460 22.0 84.0
450 15.0 91.0
450 15.0 91.0
450 15.0 91.0
450 15.0 91.0
450 15.0 91.0
450 15.0 91.0
420 6.0 100.0
420 6.0 100.0
420 6.0 100.0
300 2.0 104.0
250 0.0 106.0
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